


THE TYCHO-SSSS

This study is dedicated to Nilakantha Somayaji (author of the "Tantrasangraha", 1501 AD) - the great Indian astronomer  who, it seems, was the original inspirator of Tycho Brahe's cosmic model :   
https://books.google.it/books?id=kt9DIY1g9HYCHYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"&HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"lpg=PA1161HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"&HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"dq=Nilakantha%20Somayaji%20tycho%20braheHYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"&HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"hl=itHYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"&HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"pg=PA1162#v=onepageHYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"&HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"q=NilakanthaHYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"&HYPERLINK "https://books.google.it/books?id=kt9DIY1g9HYC&lpg=PA1161&dq=Nilakantha%20Somayaji%20tycho%20brahe&hl=it&pg=PA1162#v=onepage&q=Nilakantha&f=false"f=false




Tycho Brahe once wrote:

"Simplicibus itaque verbis gaudet Mathematica Veritas, cum etiam per se simplex sit Veritatis oratio."

Or in 'more simple' words:

"So Mathematical Truth prefers simple words since the language of Truth is itself simple."
Tycho Brahe / 1546-1601





Rudolf Steiner once wrote:

"Now today we have a very remarkable fact, my dear friends. This Copernican system, when employed purely mathematically, supplies the necessary calculations concerning the observed phenomena as well as and no better than any of the earlier ones. The eclipses of the Sun and Moon can be calculated with the ancient Chaldean system, with the Egyptian, with the Tychonian and with the Copernican. The outer occurrences in the Heavens, in so far as they relate to mechanics or mathematics, can thus be foretold. One system is as well suited as another. It is only that the simplest thought-pictures arise with the Copernican system. But the strange thing is that in practical Astronomy, calculations are not made with the Copernican system. Curiously enough, in practical Astronomy, — to obtain what is needed for the calendar, — the system of Tycho Brahe is used! This shows how little that is really fundamental, how little of the essential nature of things, comes into question when the Universe is thus pictured in purely mathematical curves or in terms of mechanical forces."
Rudolf Steiner
http://wn.rsarchive.org/Lectures/GA323/English/LR81/19210102p01.html
  

PREFACE: 

THE COPERNICAN "CONFIRMATION FLOPS" - a short historical memento


Once upon a time - actually only a few centuries ago - scientists and astronomers all over the world were engaging in loud, bitter and passionate battles - in the quest for the 'cosmological truth' of our universe. What most people tend to forget is what, precisely, was at stake : mind you, it was probably a largely  unspoken, underlying fact even back then, but undeniably, what truly was at stake was the very survival of the Copernican model and its credibility as the "end-all" of all cosmological theories. Countless experiments were being carried out, one more intricate than the other, yet virtually all of them were aimed towards the very same goal : to verify that Earth was moving around space at about 107.000+km/h - as predicted by the Copernican theory. Today, the most (in-)famous among them all - the Michelson-Morley interferometer experiment - is billed as the "greatest failed experiment of all times", yet it really doesn't deserve to be singled out for having failed to prove Copernicus right:  in fact, it is a matter of historical record that the totality of numerous similar experiments - embarrassingly enough - failed to prove the predicted Earth motion of 107.000+km per hour. However - and to correct a common misconception -  these experiments did not prove that Earth is totally stationary  : the truth of the matter is that they all these experiments DID detect some amount of earthly motion, yet the data recorded suggested a velocity of our planet so minuscule - and so vastly inferior to the 'Copernicus prediction' - that they were deemed to be wholly insignificant. 

Another intense / hotly-debated series of experiments were those attempting to observe the so-called "stellar parallax". Of course, this was ALSO a crucial test for the Copernican model : if NO stellar  parallax whatsoever could be detected, then the Copernican model would die an instant death. Instead, after  painstaking, tireless  efforts by eminent astronomers around the world, some minuscule / microscopic stellar parallax was finally detected. Incredibly enough (and here's when one must question the intellectual honesty & integrity of the world's scientific community), those minuscule lateral / visual star displacements were deemed sufficient to 'prove' that Earth moves at hypersonic speeds around space - completing an almost 1-billion-km orbit  every year! As we all know, the 'ad hoc explanation' for this near-zero stellar parallax submitted was, we were told, that the stars are far, far, far more distant than anyone had ever imagined!" To be sure, astronomers are relying - still today - on the flimsy "red-shift/blue-shift" approximations [link to relevant source] to estimate stellar distances. The truth is, NO ONE really knows exactly how distant the stars are. Just consider this quite recent (2012) science journal's announcement : "a scientific astronomy-study has determined that Polaris, our North Star, is approximately 1/3 (yes, 33%!!!) closer to Earth than previously thought." So much for the accuracy of the red-shift/blue-shift 'science'...

Perhaps the most (tragi)comical instance of cosmic science-quackery is Arthur Eddington's 1919 solar eclipse experiment. At the time, the fundamental tenets of  both the Copernican and the Newtonian theories were perilously at stake, as the observed orbit of the 'unruly planet' Mercury didn't seem to comply to Newton's 'indisputable' cosmic laws. So the Royal Society dispatched Sir Eddington to Gabon, Africa - (and another team to South America) to photograph an upcoming solar eclipse. Arthur's expedition almost ended in total disaster - as the skies were cloudy most of the time, yet his team somehow managed to snap a couple of (blurry) shots of the eclipse. The South American team did better - and brought home a series of half-decent shots. Now, the whole point of the exercise was to confirm the validity of a young upstart scientist's thesis,  namely the "theory of relativity". The then little-known Albert Einstein had 'come to the rescue' of both Newton's and Copernicus's 'endangered' theories, basically stating that : "the light emitted by a celestial body will bend / warp - in the vicinity of a large mass such as the Sun." In other words: "you can't trust what you see with your own eyes; Mercury may SEEM to be where you see it - but in reality it is elsewhere!" To make a long story short, even though the photographic plates snapped by the two Royal Society teams returned conflicting and inconsistent data,  Sir Eddington somehow managed to pass them off as "definitive / irrefutable proof of  Einstein's relativity theory". Einstein thus became, overnight,  the universally acclaimed scientist that he still is today.       
  
And today, as you may have noticed, almost no one really cares whether the Copernican model is valid or not The long string of utter failures to confirm the Copernican theory have simply faded away from public memory - and have done next to nothing to weaken the public's seemingly unconditional trust in its 'long-established / peer-reviewed', centuries-old conclusions . As for the world's scientific community, it seems like they have bowed down to the various 'Laws' promulgated by the almighty Cosmic Trio (Newton, Copernicus & Kepler) - and by their 'modern-day court-jester and  saviour', Albert Einstein (the man who warped space) - in a tacit admission of scientific impotence. Today, the NASA scammers reign supreme - having long hijacked the noble old science of astronomy and turned it into a TV "Reality Show" or, in other words, into a crass money-making hoax bought into by the vast majority of this world's population.           


Foreword

As I embarked, some three years ago, on this adventurous cosmic research-journey, I remember thinking: "why am I doing this? Does it even matter if Earth circles the Sun - or vice versa? Or if it's totally immobile / not even a globe / flat, pear-shaped - or any variations thereof?" Well, I chose to stick with the notion that   

1 - Why would this Earth be skewed on a so-called "axial tilt"  (supposedly explaining our seasons) and wobbling around its axis (in a  ca. 26,000-year cycle which alternates our North Stars)? If our planet is tilted (on its North-South axis) as of the current theory , why do we see ALL our 'nearby celestial companions ' - Sun included - annually ascending & descending along their commonly-tilted plane? Isn't the plane of Earth's orbit supposed to be co-planar with our celestial companions's orbits - as of the Copernican model's geometry ? 

Fig.1 :



2 - How can our current North Star (Polaris) possibly remain almost stationary above our North Pole  year after year - and for decades on end - when we are meant to be sweeping around a huge, 300-million-km-wide ring at  hypersonic speeds - covering its circumference of some 940 million km every year? Worse still, we are now told that our entire solar system - Sun included - hurtles across our galaxy at unthinkable speeds, yet  we hardly see Polaris moving at all? Is Polaris also part of our solar system? Of course not. 

In the course of one year - as Earth supposedly moves around a 300.000.000 km-wide corbit  - our current 'North star' Polaris (the red dot in below animation) appears to be virtually stationary.  Astronomers will tell you that this is due to "Polaris being very, very distant - so very distant that we can hardly perceive it to be moving at all" :  




3 - What would possibly, as of Kepler's "Laws of planetary motion", make planets 'circle' in elliptical paths and  - purportedly - cause them to alternately accelerate and decelerate? Yes, we've been told that it's due to Newton's gravitational Laws - yet we tend to forget that Sir Isaac himself admitted he couldn't explain WHAT gravity IS ! "Oh, excuse me: I've written this fancy Law - but I can't for the world explain what on Earth it means!" 

4. It is a fact that Mars can realign (as seen from Earth) with any given star in only 547 days or so (i.e. 1 .5 years  - which means Earth will then find itself on the opposite side of its orbit). If you look at an 'overhead view' of the Copernican solar system, you will see that such an occurence is, physically / geometrically speaking, an utter impossibility. That is, it is an impossibility under the Copernican model. In reality though, this DOES indeed occur and, as we will see, the TYCHO-SSSS model provides a logical explanation for this occurence. 

5: Mars (and all the other so-called "outer /or 'superior' planets") has a period of retrograde motion, during which we see it reverse its motion in the sky (for ca. 71.2 days on average).  Now, the average CALENDAR INTERVAL between the occurence of Mars' retrograde periods is 48.7 days. Since this will obviously affect how we count Mars' cycles, why has no one to this day noticed that, when subtracting 48.7 days from Mars' average synodic period (779.2 days), Mars turns out to have a mean cycle of 730,5 days - i.e. EXACTLY  (365.25 X 2)  TWO SOLAR YEARS ?

Again, the above questions are only a select few out of many more I used to muse about. Never - not in my wildest imagination - would I have ever thought or hoped to resolve (at least for myself) many - if not all - of these questions within a few years of steady, brain-racking marathons. Yet, this is what has - almost 'miraculously' - happened, and I am hereby sharing my findings with all and sundry, 'come what may' - as they say. I am satisfied that the TYCHO-SSSS model not only agrees with all empirically-verifiable astronomical observations gathered over the centuries - but that it can also provide logical resolutions  to a series of longstanding, historical cosmic quandaries.   

Before we go any further, let us remind ourselves of the Copernican model's configuration - with the Sun positioned in the middle of a multi-lane, planetary "merry-go-round. Here it is - as we all know it :

Fig.2 : THE COPERNICAN "CAROUSEL": 




The very first problem with the above model which they all taught us in school is the following :

NO SIMILAR 'carousel'-configuration of celestial objects (revolving around a central, "immobile" object) has been observed in our skies - EVER. Instead, in later years astronomers have discovered that MOST stars are binary system - wherein two (or more) stars revolve AROUND EACH OTHER.


ABOUT BINARY STAR SYSTEMS

The majority of the observed systems (in astronomical / observational history) featuring two or more revolving celestial objects have turned out to be so-called binary systems (as discovered in the recent decades). A binary system is composed of two or more objects revolving around each other - as opposed to revolving around one fixed / central object. It therefore stands to reason, in a perfectly logic / statistical sense, that ALSO OUR "SOLAR SYSTEM" is a binary system. 


"Binary stars are two stars orbiting a common center of mass. More than four-fifths of the single points of light we observe in the night sky are actually two or more stars orbiting together. The most common of the multiple star systems are binary stars, systems of only two stars together. These pairs come in an array of configurations that help scientists to classify stars, and could have impacts on the development of life. Some people even think that the sun is part of a binary system." http://www.space.com/22509-binary-stars.html 

and:

"Binary stars are of immense importance to astronomers as they allow the masses of stars to be determined. A binary system is simply one in which two stars orbit around a common centre of mass, that is they are gravitationally bound to each other. Actually most stars are in binary systems. Perhaps up to 85% of stars are in binary systems with some in triple or even higher-multiple systems."
http://www.atnf.csiro.au/outreach/education/senior/astrophysics/binary_intro.html

and:

"There are many common misconceptions about binary star systems, one of the most common myths is that binary star systems are the cosmic oddity and that single star systems are the most prevalent, when, in fact, the opposite is true. 50 years ago binary stars were considered a rarity. Now, most of the stars in our galaxy are known to be paired with a companion or multiple partners. "
http://www.binaryresearchinstitute.org/bri/research/evidence/prevalence.shtml


The idea that the Sun is part of a binary system is not new : the Binary Research Instritute headed by Walter Cruttenden has been looking at this hypothesis for many years. The problem is, their reasoning is stuck in the heliocentric paradigm: http://carlotto.us/newfrontiersinscience/Papers/v02n01a/v02n01a.pdf



  



http://jtg.sjrdesign.net/advanced/stars_binvar.html


Double star astronomy : http://www.handprint.com/ASTRO/bineye3.html 



**********************************************************************************


THE TYCHO-SSSS : a general overview

Introducing (my proposed) SUN-MARS binary system

Here is one of my earliest TYCHO-SSSS graphics I made back in 2013 - as I tried to make wrap my head around the proposed geometry of Tycho Brahe's so-called "geoheliocentric" model. At the time, I wasn't even aware that binary systems were (by far) the most-commonly-observed star formations to be found in our universe. But then again, neither was Tycho Brahe, back in his days : the relatively recent realization that most of the stars  (more of a rule than an exception ) are 'locked' in some type of binary system is arguably the single most significant astronomical discovery of modern times.   

Fig.3: The intersecting orbits of Sun and Mars



Here is a 'classic' Binary Star System - as illustrated on the Australian Telescope National Facility website :





If we now substitute the above " higher mass star" and "lower mass star" with the SUN and MARS (as I have done in my below, retouched version of the above diagram) we see that Earth will be located precisely at the Center of Mass (or barycenter) of a most harmoniously-balanced binary system comprising the two moons of Mars (Phobos & Deimos) and of the two moons of the Sun (Mercury & Venus). To be sure, Mercury & Venus are the ONLY 'planets' in our entire solar system which, puzzlingly enough, have no moons - a fact still described as an 'inexplicable mystery' by modern astronomy. Well, you guessed it: the simple reason for this (in my earnest opinion) - is that they themselves  ARE moons. They are the two moons of the Sun - much like the (naturally smaller) Phobos and Deimos are the moons of Mars.

In any event, it all makes for a neatly balanced and harmonious binary system - similar to the countless binary star systems observed and catalogued in recent decades - with the addirtion  of one notable, unique little feature of paramount interest to us earthlings: in the TYCHO-SSSS,  Earth is positioned at what would be its expected barycenter / aka 'center of mass' :   




Here is NASA's dubious 'explanation' of this never-resolved cosmic mystery :
"Why don't Mercury and Venus have moons?" 
Most likely because they are too close to the Sun. Any moon with too great a distance from these planets would be in an unstable orbit and be captured by the Sun. If they were too close to these planets they would be destroyed by tidal gravitational forces. The zones where moons around these planets could be stable over billions of years is probably so narrow that no body was ever captured into orbit, or created in situ when the planets were first being accreted.
http://image.gsfc.nasa.gov/poetry/venus/q328.html

"Why Venus doesn’t have a moon is a mystery for scientists to solve."
http://spaceplace.nasa.gov/how-many-moons/en/

Comparing the moons Mars and the Sun

In the TYCHO-SSSS,  Mercury and Venus are the Sun's own two moons - much as Mars also has two moons : Phobos and Deimos. Not everyone, it seems, has even heard of them - yet they're certainly there - and a closer look at them brings up some interesting 'analogies' with their 'bigger sisters' Mercury and Venus.    

Consider this comparative data of the four moons of the Sun and Mars : 

- Mercury's diameter is ca. 2.5X smaller than Venus' diameter
- Mercury's orbital diameter is ca. 1.8X smaller than Venus' orbital diameter 
                                                             whereas
 - Phobos' orbital diameter is ca. 2.5X smaller than Deimos' orbital diameter. 
- Deimos' diameter is ca. 1.8X smaller than Phobos' diameter. 

- Each year, Mercury revolves ca. 3.13 times around the Sun  
- Each day, Phobos revolves 3.13 times around Mars 

- Mercury orbits the Sun precisely 5X faster than Venus
- Phobos orbits Mars precisely 4X faster than Deimos

For what it's worth, it would appear to indicate some sort of 'relationship' betwen the two moons of Mars with the Sun's two moons. Lets' now look at what certainly was, back in Tycho's days, his most controversial contention. Namely, that the orbits of Mars and the Sun actually intersected with each other.  

Fig.4: The harmonic 2:1 dance of Mars and the Sun


Note: more precisely, the average synodic period of Mars is 779.2 days - i.e. 48,7 days more than 730.5 days - and 71.2 days more than 708 days (Mars' true, empirically observable sidereal period).
Also, please note that little green arrow at top left denoting MARS' orbit precession : you will just have to imagine this additional 'spyrographic' motion which is missing in the above animated gif. As we will see, the MARS orbit completes one full loop around the Sun and Earth in about 16 years - and returns to its (near-)exact 'starting position' (and alignment with Earth + other 'solar system companions') after 32 years.   

Fig.5 : A 3/4 VIEW OF THE TYCHO-SSSS:



In the TYCHO-SSSS, the SUN and MARS are the 'main players' of a typical binary system - with EARTH positioned at the system's Center Of Mass.  

The Sun revolves once a year around Earth (at 107,226km/h - i.e. the orbital speed attributed to Earth in the Copernican model) while its 'binary counterpart' Mars revolves - once every two years - around the Sun and Earth. Mars and the Sun are both 'escorted' by a pair of moons, the little-known Phobos & Deimos - and the famous Venus & Mercury. The latter two are, of course, the ONLY TWO  so-called "planets" of our entire solar system which - notoriously / yet 'mysteriously' - have no moons of their own... for the simple reason that the two of them ARE in fact moons!  



The TYCHO-SSSS model proposes - not without reason - that Earth's celestial equator  should naturally be considered as "our 0° horizontal plane". Earth's axis isn't - nor needs to be - tilted at (approx) 23.5°. Instead, this is the angle at which all its surrounding celestial companions are skewed in relation to Earth. In fact, Earth neither tilts nor wobbles - nor does it hurl around space at 107.000+ km/h. It only rotates on itself once every 24 hours -  while slowly getting 'dragged' around (at 1mph) along its own, 25344-year orbit (which I have named the "PVP" orbit - an acronym for Polaris-Vega-Polaris) - in what is commonly-known as 'The Great Year' or "the precession of the equinoxes". What I am calling the "PVP orbit" will, of course, be exhaustively expounded and illustrated further on - as it is represents the 'main postulation' upon which my TYCHO-SSSS is founded.    

Before expounding in due detail the mechanics, maths and geometrics of the TYCHO-SSSS  model - along with the method and logical processes with which its conclusions were reached - let me submit a shortlist of aspects that the TYCHO-SSSS "does away with" and / or resolves:

- No axial tilt: Earth rotates 'upright on its own equatorial plane'. Instead, the orbits of the Sun and its celestial companions are tilted as illustrated in Fig.2 - causing our seasons to alternate between spring, summer, fall and winter. This is not - as commonly argued - equivalent to the Copernican model which fails to adequately account for the observed seasonal ascending / descending motions of the Sun. 

For instance, in the brief period between mid-August and mid-October an earthly observer will see the Sun drastically declining in the sky by a whopping 23.6°. How can this possibly be explained within the Copernican model? Here are two screenshots (from an online, Copernican-modeled simulator) compared :

 

Clearly, there is no plausible geometric motive for the Sun to decline (i.e. for its elevation to drop) in our skies by as much as 23.6° between August and October. Not in the Copernican model, that is. 

This 23.6° declination we can all observe between mid-August and mid-October can be readily illustrated as a self-evident occurence in the TYCHO-SSSS - a natural consequence of the model's very geometry.
Fig.6: Seasonal solar declinations in the TYCHO-SSSS



- In the TYCHO-SSSS the Sun - not Earth - moves at 107,266 km/h. Earth rotates around its axis once every 24 hours -  while moving at 'snail pace'  along its own orbit - and is currently below the "North star" Polaris. In about 12,700 years, Vega will become our 'North Star'.    

- Uniform circular motion : http://en.mimi.hu/astronomy/uniform_circular_motion.html  
No elliptical orbits: the TYCHO-SSSS orbits are all uniformly circular, albeit always 'off-center' (at variable degrees) of whatever a given celestial object revolves around. The orbital velocities of all celestial bodies are perfectly constant - i.e. they do not physically accelerate / decelerate as (had to be) postulated by the Keplerian "laws" : that is only a matter of 'geoptical' illusion - as will be illustrated further on.  Let us all remember that a PRIME concern of astronomers - for centuries and throughout history - was to formulate a cosmic model which allowed for the uniform circular motion of all celestial obects! 
  
- The binary nature of the TYCHO-SSSS system - what with Mars' peculiar, 'spyrographic'  orbital motion around the Sun, geometrically explains why Mars can periodically be seen realigning twice with a given star within only 546 days (or about 1.5 years). This empirically observable fact cannot possibly occur - as will be demonstrated - within the Copernican model's proposed geometry - a fact which, all by itself, relegates the Copernican theory to non-starter status.     

- No 'wobbling' of planet Earth: the rather fanciful / laughable 'third motion' of Earth (meant to account for the famed 'precession of the equinoxes') has already been exposed as an outright impossibility by various independent astronomy researchers. In the TYCHO-SSSS, Earth does NOT wobble. It simply revolves (at 1mph) around an orbit which happens to pass underneath a number of stars - such as Polaris, Thuban and Vega. 

I have titled my cosmic model the "TYCHO-SSSS", not because Tycho Brahe is my "hero". After all, Tycho apparently believed to his last day - for some unfathomable reason - that Earth was totally stationary and that the entire starfield revolved around it 'in unison'. How Tycho reconciled this belief with, for instance, the retrograde motions of the so-called "outer planets" is quite a mystery (to me). However, and since my present research has focused on the MECHANICS and GEOMETRY of our 'solar system' (and its 'geoptical' interpretations), due credit nonetheless goes to Tycho Brahe's original model, what with its logical and well-pondered layout. Another 'mystery' is the fact that Tycho's work has long been snubbed / sidelined  by the wider scientific community - causing it to slip into virtual oblivion. Mind you, Wikipedia correctly mentions - in substance - that the Tychonian tables always were superior (in sheer accuracy) than the Copernican, yet this fact doesn't seem to matter much to anyone today - professional astronomers included.     

Let it be clear that that I have carried out this research on my own, on a zero budget, that my efforts have been 'fuelled' exclusively by my own intellectual curiosity, that I have no vested interests whatsoever in diffusing  it (other than, of course, personal satisfaction) or, much less, that any religious / ideological biases motivated or influenced my logical thought-processes leading to what might be called a 'geocentric' model (even if I prefer my newly-coined "geoaxial binary system" neologism). In short, make of it what you will - and if my conclusions do not meet your consensus / approval, so be it. I'm no salesman - and will never be. It really is up to YOU, the reader, to make up your own mind with regards to my present thesis and to acknowledge - or not - the validity of the same. I trust that ANYONE with a modicum of background in astronomy will at least appreciate the basic soundness of the TYCHO-SSSS model and realize that - if it should turn out to be a serious 'contender' to the currently-accepted, Copernican model, I do not expect any help & support to come from academia circles.     

Hopefully, the reader will - in any event - appreciate that my research methods are founded on sound logic, transparent (if sometimes counter-intuitive) optics and geometry,  plain (if fairly basic / elementary) maths - and that I'm not out to waste anyone's time. I have tried my best to present my findings in 'layman's terms' (mind you, I am no pro-astronomer myself), so as to make it accessible / understandable by those who may have little or no familiarity with the rather arcane 'astronomical jargon'. The criteria I have followed when selecting information sources, learning tools and astronomy literature has privileged those pertaining to 'raw', empirical if rather old (and, in any case, strictly pre-NASA!) observational data & tables gathered throughout the centuries. My delvings have led me as far back as the ancient Maya people (who evidently were, astronomically-speaking, FAR ahead of their times) to find precious clues and data - regarding mostly the cycles of Mars, Venus and our Moon - luckily conserved in the famous / yet still 'uncracked' Dresden Codex.

Not to be too 'old-school' however, I have also used quite modern, 'state-of-the-art' online tools - such as the NEAVE and the SCOPE (computer-modeled) planetariums, both of which are meant to interactively simulate (in different ways) the planetary motions - with utmost accuracy. However - as I will expound in due detail - I have found the two planetariums to be in stark contradiction with each other. So much so that, in fact, only ONE of them can be mostly trusted - namely the NEAVE planetarium, which simply simulates / reproduces what all earthly observers can empirically observe with their own eyes,  stargazing from their gardens. By contrast, the SCOPE planetarium (which features an 'overhead / aerial view' of our solar system),  simulates something that no living beings may ever verify with their own eyes (unless one hovers in a Star Trek spaceship high above the North Pole). As I will show, this computer-modeled "overhead view" of the Copernican model (such as that proposed by the SCOPE planetarium) flatly disqualifies the same as a possible design of our 'solar system'. 

Thankfully, my profound awareness of the massive & grotesque NASA scam has kept me well clear of ANY data released by our planet's phoniest 'science' agency. NASA and its 'Walt Disney  cartoon-science' is fit for dreamers still believing in Santa Claus  - and is truly  nothing more than a sadly popular and ongoing "Sci-Fi /Reality -TV" show supported by millions of defrauded taxpayers. Appropriately enough - and as should be of no surprise - NASA's very first Chief Administrator was a big-shot Hollywood studio manager[link to T. Keith Glennan thread], yet how many people are even aware of this fact? To be sure, ANY  astronomy learnings, studies and observations predating the birth of NASA have to be more serious and credible than the cosmo-comical junk-science peddled by the NASA clowns. Luckily - for the world - their days are counted: with an exponential number of people currently waking up to their shenanigans, NASA, ESA and their fellow international space-hoaxers are playing their last cards: their tireless propaganda machine has recently launched a 'viral' internet campaign aimed at associating anyone questioning the phony space industry ... with flat earth proponents. A 'smart move', one might say - yet one that is bound to backfire over time - and thus allowing the new generations to pave the way to a new era of (truly) intelligent life here on Earth.      



***************************************************************************************


UNDERSTANDING GEOPTICAL ILLUSIONS  

Was Kepler simply unaware of space/time/perspective realities?

I will be gentlemanly enough to assume that the man credited with establishing  (seemingly "for all times" and "beyond question") the planetary mechanics and geometry of our (near-)cosmos, namely Johannes Kepler, was a respectable, well-meaning soul (even though he's rightfully suspected of being nothing of the sort  [link to source] ). Out of the three 'science icons' making up the "untouchable Cosmic Trio" (Newton, Copernicus  & Johannes Kepler), I have chosen to focus my questioning mind on the latter's legacy - and proclaimed 'laws'  - for reasons that should become clear as I go along. To be sure, these three fellows are universally hailed for "dragging humanity out of the dark ages of dogmatic & irrational beliefs" while leading the 'glorious path to humanity's intellectual / rational enlightenment' (by virtue of the so-called 'Copernican Revolution') - and projecting us all into the "Age of Reason" which, supposedly, is the age we are enjoying today... 

As I studied Kepler's "Laws of Planetary Motion", I couldn't help but wondering what on Earth made the man reach his outlandish conclusions - which can roughly be condensed in this one sentence: "a smaller planet / or celestial body (x) will orbit around a bigger celestial body(y) in an elliptical path - and will accelerate or decelerate according to its distance from the latter".      

Here's an animation I found at an astronomy website  - illustrating Kepler's  "2nd Law of planetary motion", which goes like this:

"A line segment joining a planet and the Sun sweeps out equal areas during equal intervals of time."


The problem is: nothing of the sort appears to have ever been observed / recorded or documented by anyone - to this day. There are no existing studies pertaining to velocity fluctuations of any known celestial body - nor is it possible to find any solid / documented observations confirming the elliptical shape of any known planet, moon or star. Instead, in modern-day astronomy illustrations, we are 'treated' to absurdly 'squashed' ellipses ( such as in the above diagram) which we are told, are "exaggerated-for-purposes-of-clarity".  

I will henceforth try and illustrate what I sincerely believe was Kepler's 'problem' - and why he reached such bizarre / convoluted conclusions regarding the planetary motions. As you may know, Kepler was Tycho Brahe's assistant and was specifically tasked - as the mathematician that he was - to make 'mathematical sense' of Tycho's vast body of celestial observations. Of course, Kepler ultimately flip-flopped 180°, turning his back on Tycho (whose lifetime's work he plainly stole following Tycho's 'untimely' passing) - and went on to embrace and 'validate' Copernicus' model instead.

Let's now see how Kepler's cosmic computations may have been distorted / misconceived - due to a number of basic optical phenomena occuring in nature. We may imagine Kepler sifting through Tycho's observational data for, say, the seasonal motions of Mercury. Now, if Mercury orbits around the Sun - and if the two of them revolve around Earth 'in unison' (as per the TYCHO-SSSS model), we may envision how ANY chronological annotations of Mercury's motions might have suggested - to a 'strict / numerically constrained' mathematical mind -  the notion of 'elliptical' planetary  motions :
Fig.7: "the Kepler ilusion"


NB: the above example is just food for thought - we really can't know what Kepler was thinking.

As it is, there is more than one way that Kepler may have misinterpreted Tycho's observational data. At this point, allow me to introduce another neologism of mine, namely : "geoptical" - as in "geoptical illusion". I have coined this new term as I find it useful to describe some particular, somewhat counter-intuitive optical phenomena which our eyes and senses may experience when observing the interaction of moving objects at larger (or shorter) distances within our geographic field of view. Yes, "parallax" has something to do with this concept - but as I will presently expound , the 'geoptical' notion also pertains to the relative speeds and motions of the objects observed. 

A basic / straightforward example of a 'geoptical' illusion :

Fig. 8 : A basic perspective issue 



The above example - with its inherent observational implications - should be easily  understood. If Joe were to plot any useful / realistic observational chart of the two airplanes' motions in space / time, Joe would need to know the exact distance - from his eyes - at which they  were travelling. On the other hand, the next example illustrates a less obvious - and far more counter-intuitive - geoptical illusion: 

This example features an earthly observer experiencing a 'geoptical' illusion: imagine the jet fighter being either Venus or Mercury - and the helicopter being the moving Sun as it circles around Earth. In the observer's field of view, the various 'slices' of the jet fighter's circular path (divided in eight equal parts of 46 units each) will be perceived as intercurring at varying, unequal rates of time / speed. Yet, in reality, both the helicopter and the jet fighter proceed at constant speeds:
Fig.9: Another 'Kepler illusion'



With these basic, optical perspective issues covered (with the help of simple /  'down-to-earth', mundane examples), we can now move on to an example representative of our planetary motions. Once again, we can see how Kepler may just have misunderstood the 'geoptical', time/space implications of Tycho's observations. In the following graphic, I show how an object circling the Sun in uniform circular fashion (such as Mercury and Venus) will be perceived by an earthly observer - in a time/space perspective: 
Fig.10: A conceptual space/time diagram



In other words, the fact that Mercury and Venus appeared to Kepler as accelerating and decelerating - and to have elliptical-shaped orbits - was probably nothing but a 'geoptical space/time illusion'. More plausibly, their velocities are constant - and their orbits are (most naturally) circular. There is no rational / conceivable motive for it to be otherwise - but you may wish to consider this just as my personal opinion for now - until you fully assess the tenets of the TYCHO-SSSS model.  

PLEASE NOTE : the"retrograde motions"of Mercury and Venus (which simply occur due to them alternately moving from West-to-East and from East-to-West - as viewed from Earth) are a wholly different affair than the seasonal, apparent retrograde motions of the so-called "outer planets" - which are geoptical illusions caused by Earth's daily rotation around its axis. More about this later. 
 

THE COPERNICAN MODEL IS OUTRIGHT IMPOSSIBLE    

It is often said that the heliocentric and geocentric cosmic models are "mathematically equivalent" - that both are essentially equally valid - and that it is only a "matter of frames of reference". 

There really can only be one - and only one - proper 'reading' of our celestial geometrics / mechanics, if we only CORRECTLY INTERPRET the interaction of our most visible 'celestial companions' vis-à-vis the more distant stars.  Through sound logic and deduction, we should be able to eliminate the impossible theories - and retain only those which make physical, mechanical, geometrical and optical sense.

And here is where the Copernican solar system model miserably falls apart. 

Let me get straight to the point, with this first example : on November 5, 2018, we will see Mars aligned with star "Delta Capricorni". Then, and only 547 days  (or ca. 1.5 years) later  - i.e. when Earth would find itself, under the Copernican model, on the opposite side of its own orbit - Mars aligns again with star Delta Capricorni. Now, please understand: yes, Mars will indeed - in reality - realign with that same star after 547 days. The problem is, as we look up the SCOPE planetarium (which shows an overhead, "North-star view" of our system) we see that - under the Copernican model's geometry - Earth and Mars cannot possibly realign WITH THE SAME STAR from our earthly vantage point in 547 days.

Here I compare two pairs of screenshots from the SCOPE and NEAVE planetariums. They show the positons of EARTH and MARS on two different dates (NOV 5, 2018 and MAY 5, 2020). The two dates are separated by 547 days - i.e. 1 &1/2 years :   
Fig.11:



            
Now here's the thing: Copernican advocates will smugly tell you that "well, this is due to the far-away stars being almost unimaginably distant - and therefore virtually NO parallax can be detected between Mars and the distant star". This is of course patently absurd, and makes a complete joke out of  a most elementary 'rule' of optics that we all can verify for ourselves. For there is one firm certitude we can have regarding the notion of 'parallax' :  as you observe two objects aligned in front of your nose (a closer object "A" and a more distant object "B") the further "A" and "B"  are separated, the larger the parallax will be. Now, we can all - hopefully - agree that Mars is FAR closer to Earth than any star in the sky. In the above-illustrated case, the observer's VANTAGE POINT will  have moved laterally (and literally) by 300 million km (that is, according to the Copernican model) - yet the FAR closer planet Mars hasn't moved a single inch in relation the far, far more distant star???  This makes no sense whatsoever and plainly disqualifies - beyond appeal - the Copernican model as a plausible cosmic theory.

To be sure, the above example is by no means some isolated / random phenomenon occuring once every trillion years - or something of the sort: it is a regularly recurring one (and not limited to Mars only, as we will see). It is quite evidently a fundamental / 'systemic' flaw of the Copernican model and its proposed geometry. Here are a some more, similar examples - this time featuring Venus versus another distant star :

In the below example, we compare two screenshots from the SCOPE planetarium. They depict two alignments of Earth and venus with star Regulus (in the Leo constellation) - which occur with an interval of 816 days. In that time period, Earth moves laterally by more than 200 million km (as of the Copernican model). Yet, an observer on Earth will see Venus exactly aligned with Regulus on both of these dates !
Fig.12:



The NEAVE planetarium confirms that we will indeed see Venus & Regulus realigning  on those two dates 

Fig. 13:


Here's yet another similar example, this time involving Mercury - and a given star in the Cancer constellation ("Asellus Australis"). Note that my dotted lines are always perfectly parallel with each other :  I certainly have NOT rotated in any way my SCOPE screenshots so as to (dishonestly) 'push through' my present case :
Fig. 14:  



Once again - and to make this point very clear: should anyone wish to counter-argue that "the stars are so VERY, VERY much more distant from Earth" - this would only reinforce my case : since the planets are FAR closer to Earth than the stars, ANY EQUAL lateral displacement (as shown in the above examples) of Earth + a nearby planet would make it utterly impossible for the two to realign with a given star - however distant - as viewed from Earth.  

Before I start expounding my (graphically illustrated) reasons for asserting that the retrograde motions of the 'outer planets' must necessarily be caused by Earth's daily rotation around its axis - let me first get one thing out of the way: it concerns the periodic 'retrograde' motion of "inner planet" Venus - and how the Copernican model, among other problems, also fails to account for this undeniable empirical observation. Don't worry, it is no complex issue to visualize - and should only require a minute or so of your time to assess and understand. All you need to know is that we can regularly see Venus 'reversing its course', i.e. moving from East to West in our skies (as it 'overtakes Earth on its inside lane' - as of the Copernican model, that is) - and that this E-to-W 'retrograde motion' of Venus lasts for no more than 50 days. The problem is, if you go by the Copernican model's geometry, we should expect this 'retrograde' period of Venus to last for ca. three times longer - or about 150 days  :      
Fig. 15:



Once again, the Copernican model roundly fails the 'reality test' - and MUST be discarded as a plausible design of our cosmos, since it proposes a cosmic configuration which is, physically / geometrically / optically speaking, not merely improbable or questionable - but outright impossible.

 ************************************************************************  
       

The APPARENT RETROGRADE MOTIONS (of our 'outer planets')
The inescapable cosmic evidence of Earth's daily rotation 





MARS retrograde (+ Ceres & Vesta) : A photographic sequence by Tunc Tezel:
http://twanight.org/newTWAN/photos.asp?ID=3004739

It is an observable, undeniable fact that Mars and all of our surrounding planets seasonally  reverse their course - and appear to travel 'backwards' as seen from Earth (as we have just seen, Venus and Mercury also alternate 'left-to-right / right-to-left' motions, but for entirely different - and more obvious reasons). Mars, Venus and Mercury do so when they are closest to Earth - but the retrograde motions of all the other planets (from Jupiter outwards) have nothing to do with their seasonal proximity to Earth. Hence, the notion that the retrograde motions are caused by the different orbital speeds between Earth and its companions is flawed.  

Astronomers call it "apparent retrograde motion" and rightly so: it is only apparent, and is a quite mundane illusion of perspective occuring everyday here on Earth. Yet, to this day, (Copernican) astronomers have ascribed this occurence to the supposed (hypersonic) VELOCITY of Earth across space - whereas, as we will see, it is simply caused by Earth's daily ROTATION. Since Earth's rotation ideally follows, along with our clocks, the Sun's daily 4- min-per-day motion, Mars (for instance) will seasonally appear to move 'backwards' against the background stars. This entirely-to-be-expected, natural parallax effect will occur whenever Mars and the Sun transit at opposite sides of Earth - as a consequence of the increased daily angular shift of the earthly observer in relation to 'nearby' Mars and the distant stars.  

It is nothing more than, as I like to call it, a 'geoptical illusion'. In fact, it is the 'king' of cosmic geoptical illusions - and one that cannot be ignored by any serious cosmic theorist : whatever one's cosmological beliefs, the very occurence of these retrograde motions is an observable fact which simply cannot be swept under the rug - unless you're ok with living in plain denial. As it is, ALL outer planets regularly retrograde - and they do so only when they are in so-called "opposition" - i.e. whenever the Sun and any given planet  transit at diametrically opposed sides of Earth. 
Fig. 16 :




Let's face it: here on Earth, we only have but a handful of solid, empirically-verifiable / tell-tale clues in our skies to help us figure out the celestial mechanics of our cosmos. If we are going to ignore these precious few indicators, we might as well not bother thinking through our cosmos at all. The retrograde motions of our nearby planets are among these few, yet invaluable clues. If you are among those who contend that Earth is totally stationary / not rotating / hollow / concave or flat, you will still need to account for how these celestial bodies seasonally stop moving across the sky  and start moving 'backwards' for several weeks / or months at a time. Let's see ... you would have to contend something like - "oh, that's just the planets' pilots occasionally slamming their engines into reverse gear" - wouldn't you? Come to think of it, I guess some folks would even buy into that ! 


"APPARENT RETROGRADE MOTION" - a 'down-to-Earth' example :

- Chopper A (think "Mars") is moving ever-so-slowly forwards (delivering flowers to Joe's garden).

- Chopper B (think "distant star") is hovering, virtually immobile, over that distant tree. 

- Joe is running from right to left (as if 'enacting' / simulating Earth's West-to-East rotation).  As he does so, Joe will perceive the closer aircraft (chopper "A") as if it were REVERSING in relation to chopper "B". 

Note that Joe will only experience this optical effect when his line of sight is aligned with (or 'perpendicular to') the two choppers. Similarly, when the Sun and Mars find themselves on opposite sides of Earth, Joe (a keen  stargazer) will experience the very same 'geoptical' effect : on successive nights, Joe will see Mars REVERSING its habitual West-To-East motion in relation to the distant stars.    
 
Fig. 17: A real-world example of apparent retrograde motion



As any keen stargazer will know, at say, midnight on any two successive nights, the starfield will have 'slipped' Westwards by 4min of RA (Right Ascension). What follows is an important point which needs to be very clear :

- In the Copernican theory, this 4-min-a-day drift is said to be caused by Earth's MOTION around the Sun.

- In the TYCHO-SSSS, this 4-min-a-day drift is caused by Earth's ROTATION around its axis. 

Consequently, on each successive night that Joe - at midnight - compares the relative positions of stars and planets, Joe himself will have moved Eastwards by 4min.  Now,  all of our planets move by less than 4min of RA each day. At the time of year that any 'outer' planet (i.e. Mars, Jupiter, Saturn) finds itself in opposition, their apparent retrograde motions will be caused by the greater (lateral) speed differential between Joe and that planet now transiting in a region diametrically opposed to the Sun's location at the other side of Earth. In other words, whenever any outer planet transits in opposition, it is the increased rate of Joe's angular / lateral shift that makes it appear to move 'backwards'. Here's another graphic to illustrate this most crucial point (as the saying goes - "a picture is worth a thousand words")  :         
Fig. 18:




As it is, Jupiter's yearly retrograde motion can last for as many as 120 days - i.e. almost 1/3 of a solar year. If the retrograde periods are not caused by Earth's rotation, what else could possibly explain them?
Fig. 19:






**********************************************************************************

OUR COSMIC CLOCKWORK

For every 16 revolutions of the SUN :

MARS completes 8 orbits of 730.5 days 

VENUS completes 10 orbits around the Sun (1 Venus revolution = 584.4 solar days)

THE SUN, of course, completes 16 orbits in 16 years (1 Sun revolution = 365.25 days)

MERCURY completes 50 orbits around the Sun (1 Mercury revolution = 116.88 solar days)

MOON completes 200 orbits around Earth (1 Moon revolution = 29.22 solar days)


Fig. 20: This schematic represents (conceptually) a 16-year period of our system. Note that all the revolution periods of the various bodies are exact multiples of 29.22days - the true average revolution period of our Moon (as will be thoroughly expounded later):   


(This diagram is of course not showing any actual planetary motions / trajectories - but is only a conceptual 
way of illustrating the relative ratios of the celestial bodies composing our wondrous 'cosmic clockwork').

Fig. 21: A 'mechanical schematic of the TYCHO-SSSS model




We will now take a look at the peculiar motions of Mercury, Venus and Mars - within the TYCHO-SSSS model . 


MERCURY - the "unruly, impertinent planet"

Mercury has always been a 'matter of concern' for astronomers throughout the centuries - what with its seemingly 'erratic / unconventional behavior'. Since the precession of its perihelion was in conflict with Newtonian predictions (thus threatening the established, Copernican solar system model) Einstein pulled out of his hat some complicated equations which, basically, told us that 'we cannot trust our eyes':  according to his theory, Mercury isn't really in the location that we observe it to be - it is somewhere else, due to Sun's gravity field 'warping' the light that the planet emits. Thus, we are told,  the 'strange behavior' of Mercury was solved - once and for all.     

As it turns out, Mercury 's behaviour is not so 'strange' at all. Yes, its orbital plane is skewed (as viewed from Earth) in relation to the Sun's plane - which causes it to oscillate rather erratically - while also being  'off-center' vis-à-vis the Sun (much like ALL known lunar / planetary orbits). Yet it simply revolves around the Sun -  in 'lunar fashion'. Interestingly, it is only slightly larger than our Moon - and circles the Sun once in exactly 4 X the time that it takes for our Moon to realign with the Sun (116.88days versus 29.22days). 

Mercury's retrograde period of circa 1 month can be illustrated with this simple animation:




In the TYCHO-SSSS, the orbit of Mercury around the Sun would look very much like this 3 + 3 phased epitrochoid.
The black dot, of course, representing the Sun - and the red dot representing Mercury :


(Animated gif is 'courtesy of' Wikipedia:   https://en.wikipedia.org/wiki/Epitrochoid  )

In fact, the above geometric rotational pattern (with its 3 long and 3 short phases) happens to be a remarkably  accurate representation of the observed 'behavior' of Mercury. Every year, we see Mercury moving in so-called 'prograde' motion (i.e. in the same direction as the Sun) for 3 three-month periods - and in 'retrograde' motion for 3 one-month periods : 
Fig. 22:




Every 7 years, an observer will see Mercury realigning six times with any given star (let's call it "star X") every 358 days - yet the 7th time, it will "run late" by 50 days and realign with star "X" in as many as 408 days. Why? We'll shortly see about that. For now, here follow a pair of (somewhat conceptual / or 'simplistic', if you will) diagrams to illustrate some basic features of Mercury (and our Moon)  -  within the TYCHO-SSSS model : 




Of our Moon and Mercury - and their common "precessional factor"
Interestingly, our Moon and Mercury appear to be 'related' in more than one way. Aside from their above-mentioned 1:4 orbital resonance, their peculiar, erratic / oscillating trajectories are remarkably similar.  
Now, we all know that our Moon completes a full revolution around Earth in 354 days (aka the "Moon Year") - i.e. about 11 days 'faster' than the Sun. The percentage decrease between 365,25 and 354 is -3.08%.
What you may not know is that Mercury realigns with the Sun (synodic period) every 347.64 days - i.e. about 11 days earlier than Mercury's habitual / average SHORT ESI of 358.7 days.  So here too, we find a percentage decrease (from 358.7 to 347.64) of -3.08%.   

Now, these would all be most extraordinary & bizarre "coincidences" within the Copernican model  - where the celestial paths of Mercury and the Moon are entirely separate and independent of each other. Conversely, their many uncanny 'common traits' would appear to make considerably more sense within the TYCHO-SSSS model - where Mercury revolves around the Sun, which in turn revolves around the Moon (and Earth) :




Is Mercury 'tidally locked' - just like our Moon?
Until around the year 1965, every astronomer in the world would have told you that Mercury is  - much like our Moon - "tidally locked" with the Sun, meaning that it always shows the same face to the Sun. When, back in 1965, official NASA and Russian Space Agency sources announced that (purportedly thanks to their modern radar data) this was - after all - not the case, it caused an uproar among the astronomy community - and is still a matter of debate and controversy to this day. As we now know, of course, the NASA hoax factory cannot be in the least trusted with regards to astronomical matters. More likely, Mercury IS in fact tidally locked with the Sun - just as our Moon is tidally locked with our planet. 


MERCURY's short and long ESI (Empiric Sidereal Interval) 


It is now imperative for the reader to get familiar with the little-known notion of "SHORT and LONG ESI's". 

In 13 years, Mercury completes 12 SHORT ESI's (of ca. 358 days) and one LONG ESI (about 50 days longer). Below is a charted example of a 13-year Mercury cycle (from July 6,1998 to July5,2012) - which I have compiled perusing the NEAVE online Planetarium. I chose - for a reason - to start counting Mercury's yearly revolutions at a given moment in time (JUST as it entered a LONG ESI) - as it transited a given star.  

My chosen celestial reference point: the star "Asellus Australis" (in the CANCER constellation)

I found that Mercury re-aligned with that given star on the following dates :

LONG: (start)July6,1998>Aug19,1999 = 409
SHORT: Aug19,1999 > Aug11,2000 = 358
SHORT: Aug11,2000 > Aug3,2001 = 357
SHORT: Aug3,2001 > July25,2002 = 356
SHORT: July25,2002 > July17,2003 = 357
SHORT: July17,2003 > July9,2004 = 358
SHORT: July9,2004 > July4, 2005 = 360
LONG: July4,2005 > Aug16, 2006 = 408 
SHORT: Aug16,2006 > Aug8,2007 = 357
SHORT: Aug8,2007 > July30,2008 = 357
SHORT: July30,2008 > July22,2009 = 357
SHORT: July22,2009 > July14,2010 = 357
SHORT: July14,2010 > July7,2011 = 358
SHORT: July7,2011 > (End) July5,2012 = 364
..................................................
(next > LONG: July5,2012 > Aug13,2013 = 404)


As you can see, we have a pattern which repeats every 7 years - with a LONG ESI occuring once every 13 years.
But more significantly - let us now compute the AVERAGE figure for these 14 observed realignments of Mercury with the same star: 

TOTAL: 5113 days  - or almost exactly 14 solar years. In fact,  5113/14 : 365.214

In other words, if you know WHEN and WHERE to start computing Mercury's celestial motions,  you will see that Mercury is very much 'locked' with the Sun's yearly orbit around Earth - since Mercury revolves around the Sun in an epicycle - much like a 'moon of the Sun'.

The below diagram explains the 'odd' occurence of MERCURY's "LONG ESI" of about 408 days - every 7 years  -  as observed from a given point on Earth. It really is nothing more than a 'trick' of geometry  - caused by Mercury periodically 'missing' the set reference point (i.e. a given star) chosen by the observer to compute its cycles.





***************************************************************************************

VENUS - Earth's "diametrically opposed twin sister"

In the TYCHO-SSSS model, the 'behavior' of Earth's "sister planet" Venus (which is virtually the same size as Earth) takes on a quite remarkable and, if you will pardon the expression, 'intuitively logical' role in our system:

- Venus rotates clockwise but revolves counterclockwise
- Earth rotates counterclockwise but revolves clockwise

Thus, it appears that Venus might act as some sort of ideal 'counter-stabilizer' of Earth. We will not go further into this aspect here - however it is worth mentioning and to keep in mind for future studies of whatever gravitational / magnetic / electric or whatever other effects that 'rule' our universe. Evidently, we're still a long way away from  

 An inexplicable fact (within current cosmic theory), is that  Venus presents the same face (to us earthly observers) each time it transits closest to Earth - every 584.4 days. No one has provided a 'rational' motive for this  synchronous 'tidal locking' of Venus with Earth. It is a complete mystery to modern astronomy. To be sure, according to the Copernican model Earth travels at its own speed around a larger orbit than Venus (which travels somewhat faster around a smaller orbit) - yet Venus ALWAYS happens to show the same face to Earth every single time they conjunct! Imagine that. How can this possibly be? Can it just be purely coincidental?

Here's from an astronomy site: http://nineplanets.org/venus.html 
"The periods of Venus' rotation and of its orbit are synchronized such that it always presents the same face toward Earth when the two planets are at their closest approach. Whether this is a resonance effect or merely a coincidence is not known." 

Here's from another astronomy site: http://www.abc.net.au/science/space/planets/venus.htm 
Every 584 days, Venus and Earth come to their point of closest approach. And every time this happens, Venus shows Earth the same face. Is there some force that makes Venus align itself with the Earth rather than the Sun, or is this just a coincidence? [YET, IN THAT ARTICLE - NO ELUCIDATION FOLLOWS - WHATSOEVER!]

And here's from Wikipedia: https://en.wikipedia.org/wiki/Tidal_locking
Whether this relationship arose by chance or is the result of some kind of tidal locking with Earth is unknown."

In the TYCHO-SSSS this 'puzzling mystery' is, shall we say, a bit less mysterious. Venus, just like Mercury, is tidally locked with the Sun - quite simply because the two of them are moons of the Sun.  Our own Moon (aka 'Luna')  is, as we know, also tidally locked with its 'host planet' Earth. Venus employs 584.4 days to circle the Sun once. Now, that is a trifle longer than 1.5 solar years (365.25 X 1.5 = 547.875 days), the difference being:

584.4 - 547.875 = 36.525 days (which, of course, is 1/10th of 365.25 days - or 1/16th of 584.4 days).

This is why, as we've seen earlier, Venus completes 10 revolutions around the Sun - for every 16 revolutions of the Sun around Earth. Hence, Venus completes 5 revolutions around the Sun every 8 years. Every 16 years it conjucts with Mars (albeit at opposite sides of Earth) - and in 32 years Venus and Mars 'meet' again  - this time on the same side of Earth. 




Like Mercury, the motion of Venus is also an epitrochoid - although of a slightly different kind - due to Venus' sizeably larger and longer orbit around the Sun. This animated gif will give you an idea of how the ca. 45-day  retrograde period of Venus occurs. However, keep in mind that - unlike this geometric animation depicts - Venus (whose orbital speed is only marginally faster than the Sun's - 35 km/s versus 30 km/s) does not complete a full loop around the Sun every year - but only every 584.4 days . (Note that 584.4 X 5 = 2922 days / and 365.25 X 8 = 2922 days)



SPEED & DISTANCE VERIFICATION - for VENUS 

The TYCHO-SSSS assumes, of course, that the Sun (NOT Earth) travels at 107,226km/h. 

Sun's orbital velocity: 107,226km/h (or roughly 30km/s)
Sun's orbit circumference: approx 940 million km (or precisely 939,943,116km)
Time needed for the Sun to complete ONE orbit: 365,25 days - or 8766 hours

(Note: on our 365-day calendar, we only count 8760h in a year. We therefore 'lose' 6h each year - hence the need for the leap year every 4 years or so - to make up for that 'lost' day > 4 X 6 = 24) - but more about that later.

We may now verify whether the speed & distance data available for Venus (which in the TYCHO-SSSS model  revolves - much like a moon - in an epicycle around the Sun) - would agree with such a notion:

Venus' orbital velocity: 126072km/h
Venus' orbit diameter: 216.4 Mkm
Venus' orbital circumference: 679.84 Mkm 
Time needed to complete one Venus orbit:
 5392 hours - or 224.66 days     

Of course, since our contention is that Venus travels along with the Sun (in its yearly orbit around Earth) while, at the same time, performing its own 'lunar' epicycle around the same, we will have to sum the above time intervals, in order to get the expected synodic period of Venus:

365,25 + 224.66 = 589.91 days 

This is a figure within the 577-to-592-day range of Venus's average synodic period of 584.4 days - and allows us to conclude that:  yes, the available speed / vs / distance-covered data does indeed agree with the notion of Venus being - quite simply, and just like Mercury, a 'moon' of the Sun (remember :  Venus and Mercury are the ONLY so-called  "planets" of our system which have no moons of their own).    

Here is to confirm that an approximative '589-day' figure is, in fact, within range of the fluctuating synodic periods of Venus. This is a series of eight successive time intervals which I have carefully verified perusing the NEAVE Planetarium (over months of patient /  methodical studies of planetary periods & cycles)  :

Aug11 2011 >  Mar26 2012 = 592 days
Mar 26 2012 > Oct24 2014 = 577 days
Oct24 2014 > June6 2016 = 591 days
June6 2016 > Jan8 2018 = 581 days
Jan8 2018 > Aug13 2019 = 582 days
Aug13 2019 > Mar23 2021 = 587 days
Mar23 2021 > Oct21 2022 = 577 days
Oct21, 2022 > June4 2024 = 592 days
total of the above 8-year sample: 4679 days > average length of Venus period: 4679 / 8 =  584,875 days
(Note: the average length of a Venus revolution around the Sun - over longer periods of time - computes to ca. 584.4 days - but for now, you will just have to take my word for it: I'm not going to clutter this paper with my volumes of annotations concerning our planets' motions over the centuries - as it would make for a tedious read).  

***************************************************************************************
MARS - the "Key" to our universe 
Johannes Kepler had it right when he stated that "Mars is the key to understanding the solar system". Apparently, he almost lost his marbles over it. Kepler reputedly struggled obsessively with Mars for over five, harrowing years and, in his correspondence with fellow scientists, referred to his relentless pursuit as "his personal war on Mars". We now know that (presumably out of sheer exhaustion) Kepler eventually resorted to shamelessly fudge / falsify his own data published in his "Astronomia Nova", a book long-regarded as the epitome of the "Copernican Revolution"[link to source]. This 'shocking' discovery was made as late (or as long ago, you might say) as the 1990's, yet it has been virtually ignored by everyone to this day. Now, if Kepler had to cheat when publishing the most important work of his lifetime, what does this tell us about his overall credibility? In any event, we may reasonably assume that the riddle surrounding the "key of our universe" never has been solved - and that the flimsy Keplerian 'conclusions' are being kept alive with some sort of 'academic life-supporting system'. 
If only Kepler had followed the geometric intuition of his master, Tycho Brahe, perhaps we wouldn't have such a dire & absurd situation today. Tycho's model featured a Mars orbit intersecting with the Sun's orbit, something which, at the time, was met with knee-jerking dismissals on the part of his contemporaries: "Preposterous! Sooner or later, Mars and the Sun must collide!" - they would snort. What they evidently never bothered / or  failed to properly calculate was the actual, or 'mean' (as opposed to 'apparent'/ as seen from Earth) orbit period of Mars, i.e. 730.5 days. In fact, and as I will hereby thoroughly demonstrate, the Sun and Mars orbits are 'locked' in a perfect 2:1 orbital resonance - thus ensuring that they can never possibly collide. This perfect synchrony is not readily observable from Earth - due to a 'geoptical' time/space illusion caused by Mars's periodic retrograde motion which offsets our earthly estimation / reckoning of its revolution period around Earth and the Sun. In reality, Mars revolves once (in 730.5 days) for every two 365.25-day-revolutions of the Sun:    
             
MARS' ORBITAL MOTION AROUND SUN AND EARTH - in the TYCHO-SSSS




MARS revolves in a 'spirographic' path around the Sun and Earth. The average synodic period of MARS is 779.2 days, ergo MARS realigns with the Sun on average 48.7 days later than 730.5 days (or 365.25 X 2). 

The true, empirically-observable average sidereal period of Mars is ca. 708 days  - that is, Mars realigns with a given star 22.5 days earlier than 730.5 days (two solar years) - and 71.2 days earlier than 779.2 days (i.e. Mars' synodic period - the time needed for Mars to realign with the Sun).

We see that 48.7 days + 22.5 days = 71.2 days

As it is, the average retrograde period of Mars is 71.2 days 
                                                      
Clearly then, these 22.5 days represent the (biyearly) precession of Mars vis-à-vis the Sun.  As we will confirm further on,  the ANNUAL precession of Mars vis-à-vis the Sun is ca. 11.25 days (i.e. 22.5 days biyearly).

Now, here's where some complexity (related to Mars being the Sun's binary companion) kicks in. Yes, I know - it is quite a mind-bender, but it crucially needs to be understood in order to get on. Anyhow, it shouldn't be all-too- hard to grasp - since we all know that Earth, for instance, spins 366 times every 365 years - and what happens with Mars is regulated by the same basic principle, albeit reversed :

AS SEEN FROM EARTH, Mars will complete its 8 loops around the system in what we will perceive as 15 YEARS - even though 8 loops of Mars is equivalent to '16 years' of the Sun's motion. This, because, in that timespan, Mars will have completed one full revolution around the system - and will therefore have 'subtracted' one year from our solar-based calendar which, of course, determines our perception / measurement of elapsed time. As it is, the apparent amount of 'lost martian time' is actually accounted for / 'to be found' in      

Thus, in 16 years MARS completes 7.5 of our ('earth-perceived') synodic periods (779,2 X 7.5 =5844days = 16years). Note that, in 16 years, Mars and the Sun do in fact realign - although on opposed sides of Earth.  Mars will need another 7.5 synodic cycles, for a total of 32 years (i.e. 2X16), to return to its 'original starting position' - as viewed  from Earth.

The intervals between two closest - or two furthest from Earth -  Mars oppositions (min 56Mkm > max 101Mkm ) will alternate between 15 and 17 years, depending on the geometric fluctuations of its peculiar 'spirograph-shaped' path around  Earth. It is a cyclic 15y/17y/15y/15y/17y pattern - which repeats every 79 years (i.e. roughly 5 sixteen-year cycles: 79 / 16 = 4.9375). Note that Venus also has 5 cycles (of 8 years)  

MARS OPPOSITIONS - from the years 1950 to 2934
http://spider.seds.org/spider/Mars/marsopps.html
         
Illustration of the Mars oppositions (as of the Copernican theory):
http://www.nakedeyeplanets.com/mars-oppositions.htm 
  



Here is how Mars and a given star can align TWICE - within 1 and 1/2 years : 




Here follows a more detailed diagram illustrating (chronologically) the exact 'geometric reasons' why Mars can realign within only 1.5 years or so with a same given star (in this case, star Regulus in the Leo constellation). As we've previously seen, such an occurence is geometrically / physically impossible within the Copernican model :




Here's from a Mars Opposition Catalog listing the past and future (already observed and expected) opposition dates of Mars - along with the respective Mars>Earth distances. As you can see, these distances vary from a minimum of 56Mkm to a maximum of 101Mkm - in a regular 15y/17y/15y/15y/17y pattern :  


source: http://spider.seds.org/spider/Mars/marsopps.html
Closest MARS opposition: ca. 56 Mkm
Furthest MARS opposition : ca. 101 Mkm
Here is a graphic illustrating two such closest / versus furthest oppositions - separated by about 8.5 years  - i.e. half a 17-year cycle of MARS. (Example:  August 28, 2003 > March 3, 2002 = 8 years, 6 months and 4 days) :


This also logically explains why, in a circa 8-year period, the Mars axis  will be tilting  and alternatively show (to an earthly observer) more of Mars' Northern pole  / or more of its Southern pole . The below graphic illustrates how this (never-before-explained) fact is readily explained by the TYCHO-SSSS model. 



A WORD ABOUT SUN SPOTS
At this point, a brief reminder of the 'seasonal behavior' of the Sun's famed sunspots is in order. The question being: if Mars appears to be tilted on its axis in relation to Earth's celestial equator - does also the Sun's axis appear to be tilted in a similar manner? As it is, it would appear that this is indeed the case.    
 Back in 1613, Francesco Sizzi alerted Galileo to his  discovery of sun spots which (apart from providing firm / irrefutable evidence* that the Sun is a sphere which rotates around its axis) he had also observed "to seasonally oscillate above and below the Sun's apparent equator over the course of the four seasons".
https://books.google.it/books?id=uW4Oq2al8oYCHYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"lpg=PA14HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"ots=Yn_NPyU4FoHYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"dq=tycho%20brahe%20mars%20intersectingHYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"hl=itHYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"pg=PA15#v=onepageHYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"q=tycho%20brahe%20mars%20intersectingHYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"&HYPERLINK "https://books.google.it/books?id=uW4Oq2al8oYC&lpg=PA14&ots=Yn_NPyU4Fo&dq=tycho%20brahe%20mars%20intersecting&hl=it&pg=PA15#v=onepage&q=tycho%20brahe%20mars%20intersecting&f=false"f=false
* It is in fact irrefutable that the sunspots are some sort of dark 'patches' attached to the Sun's surface (as opposed to any kind of objects orbiting the Sun) - since the sunspots are observed to widen (and to accelerate) as they reach the centre of the Sun - and to decrease as they reach the other edge of the solar sphere.  
Cristoph Scheiner (who upheld a bitter feud with the ever-arrogant Galileo and his spurious accusations of 'plagiarism') is the astronomer credited with the most monumental treatise ("Rosa Ursina") regarding sunspots. Scheiner's observations would certainly appear to suggest that the Sun's rotational axis is inclined in relation to our celestial equator - as succintly illustrated in the following graphic :


"Scheiner, in his massive 1630 treatise on sunspots entitled "Rosa Ursina", accepted the view of sunspots as marking on the solar surface and used his accurate observations, to infer the fact that the Sun's rotation axis is inclined with respect to the ecliptic plane (i.e., the plane of the Earth's orbit around the Sun)." 
http://thebookofbeginnings.com/sources/4/HistoryofSolarPhysics.pdf
"So"- you may now rightly ask - "is the Sun's equator tilted as seen from Earth?" Apparently yes. The below diagram is from a website specialized in 'sunspotting' :


http://www.nature1st.net/bogan/astro/sun/sunspots.html 

MARS ORBITAL SPEED vs TIME VERIFICATION 

We have seen that, in the TYCHO-SSSS, Mars completes 12672 of its own orbits in 25344 years.

Let us now calculate the distance that Mars would cover in 25344 years - and verify if this corresponds to 12672 of Mars's own orbits. 

Mars orbit diameter: 455.85 Mkm
455,850,000km X  π =  1,432,093,801.5 (the circumference of Mars's orbit) 

In the TYCHO-SSSS, Mars completes ONE of its own orbits in 730.5 solar days (or 17532 hours), therefore Mars's orbital speed will be : 1,432,093,801.5 / 17532h = 81684.565 Km/h (or 22.69km/s) 

Now, in 25344 years there are (25344 X 8766) 222,165,504 hours, therefore :
81684.565km/h X 222165504 = 18,147,492,652,608 km (the distance Mars will cover in 25344 years) 

We can now find out how many orbits - travelling at 81684.565 Km/h -  Mars will complete in 25344 years: 
18,147,492,652,608 / 1,432,093,801.5  = 12672 EXACTLY - i.e. the exact number of Mars orbits we previously obtained  for a full "equinox precession" cycle!  Very well.  

***************

We know that the Sun's orbital speed is superior to Mars's orbital speed by a factor of 1.31268, because:
107226 kmh / 81684.565 kmh = 1.31268 - so let us verify this factor over a full "equinox precession" cycle:

Distance covered by the Sun in 25344 years: 939,943,116km X 25344y : 23,821,918,331,904 km
Distance covered by Mars in 25344 years (see above calculus) : 18,147,492,652,608 km

In fact, as we divide the distance covered by the Sun (in 25344 years) / by the distance covered by Mars (in 25344 years), we obtain : 23,821,918,331,904 km  / 18,147,492,652,608 km  = 1.31268

As a last verification, let's see (just for curiosity's sake) how long it would take for Mars to cover the Sun's (smaller) orbital circumference : 939,943,116km / 81684.565 Km/h = 11,505.9856343 h

In fact : 11,505.9856343 / 8766h (number of hours in one year) = 1.31268

Again, it looks like we are - mathematically speaking - very much on the right track.
***************************************************************************************

OUR SYSTEM'S MULTIPLE ORBITAL RESONANCES - 'ruled by the Moon' 

Much like Jupiter's largest moons (Io, Europa and Ganymede) which are 'locked' in an exact 1 : 2 : 4 orbital resonance (see fig: X) - our entire solar system is 'locked' in remarkably exact / multiple orbital resonance. To be sure, in the Copernican model, nothing suggests that the various celestial bodies composing our solar system are - or would plausibly - interact at precise / integer orbital period ratios. Conversely, the very  geometry of the TYCHO-SSSS suggests that this should be the case, and indeed so it is : our Moon / Mercury / Venus / Mars / and Jupiter are locked in an orbital resonance (between their respective average orbital periods) of 1:4:20:25:150. You may think of it as a  perfect 'gearbox' (or clockwork) featuring our Moon acting as the 'driveshaft' of it all :

1 > Average orbital period of Moon: 29.22 days (29.22 X 1) 
4 > Average orbital period of Mercury: 116.88 days (29.22 X 4) 
20 > Average orbital period of Venus: 584.4 days (29.22 X 20) 
25 > Average orbital period of Mars: 730.5 days (29.22 X 25) 
150 > Average orbital period of jupiter: 4383 days (29.22 X 150)

The very fact that our little 'satellite' - the Moon - appears to be some sort of 'master driveshaft' of our entire system should, all by itself, rule out the Copernican cosmic model as a plausible reality: It just makes no conceivable sense why our Moon (which in the Copernican design, of course, spins 'independently' around Earth -  the two of them revolving around their own, separate 'highway lane') would possibly have such a 'central role'. Instead, if we envision the Moon as a body revolving around the very barycenter of the system (namely planet Earth ) - everything should start making sound, logical sense. 


The "magical" 32-year Super conjunction

In a given 32-year timespan the Sun will realign on six occasions with Mars and Venus - each time as both of them transit at their respective apogees (i.e. furthest positions from Earth). What we see from Earth is an almost 'magical' clockwork at play : the so-called 'planets', our Sun and Moon - all of them  - are interlocked in 'mutual multi-synchrony', wherein their respective revolution periods are exact multiples of our Moon's 29.22 period. 

In a 32-year period (11688 days) an earthly skygazer may observe a near-perfect,  "super conjunction" of the Sun, the Moon, Mercury, Venus and Mars - ALL of them having completed an exact, 'integer' number of their own orbits - as of the below-illustrated Aug24, 1987 > Aug,24 2019 thirty-two-year example. 

To be sure, this 11688-day period (in which our celestial companions complete a 360° 'precession' around Earth) makes perfect geometrical sense - given our 3.0800821355% "precessional factor" expounded above:

 3.0800821355% of 11688 = 360     

11688 = 32 X 365.25  (Earth years - or Solar years) = 33 X 354  (average Moon Years)

11688 = 16 X 730.5 (Mars)

11688 = 20 X 584.4 (Venus)

11688 = 100 X 116.88 (Mercury)

11688  = 400 X 29.22 (Moon)










****************************************************************************
 
PLANETARY MOTIONS  in the TYCHO SSSS

So does the TYCHO-SSSS stand up to scrutiny  - all the way to the famous (yet ever-mysterious) 25.000+ years period known as the "precession of the equinoxes"?  Let us first verify whether the TYCHO-SSSS model (with its specific 'planetary' data / time frames) can adequately explain / account for the celestial mechanics of our nearby planets / moons and their geometrical 'time-space' interactions over a full (25,000+ year) circuit of the so-called "precession of the equinoxes".
    
(Note: the current / Copernican estimate for the full "equinox precession" is 25,771 years.)
https://en.wikipedia.org/wiki/Axial_precession 

A BIT OF MATHS:

Every 32 (solar) years, Mars advances by an average of 10.909min of RA (Right Ascension ) 'ahead of the Sun'  - as  viewed from Earth. Our full, 360° view of the firmament is of course divided in 24 hours / or 1440 min. So, if Mars precesses by 10.909min every 32 years, how long will it take for Mars to 'lap' the Sun by one full revolution?

Let's see : we will have to divide 1440 min by 10.909 min - so 1440 / 10.909 = 132 (i.e. the number / amount of 32-year periods Mars will need to 'lap' the Sun's orbit once).

132 X 32 years = 4224 - or 1,542,816 days

Hence, Mars will employ 4224 years (or 1,542,816 days) to complete one full 'precessional lapping' of the Sun's orbit. Now, let's see how many of their own orbits the Sun, Mars, Venus, Mercury and the Moon will complete in that same period: 

SUN: 1,542,816 days / 365.25 = EXACTLY 4224 solar revolutions 
MARS: 1,542,816 days / 730.5 = EXACTLY 2112 Mars revolutions
VENUS: 1,542,816 days / 584.4 = EXACTLY 2640 Venus revolutions
MERCURY : 1,542,816 days / 116.88 = EXACTLY 13200 Mercury revolutions
MOON : 1,542,816 days / 29.22 = EXACTLY 52800 Moon revolutions
JUPITER : 1,542,816 days / 4383 = EXACTLY 352 Jupiter revolutions

As noted above, the Coernically-estimated period of the so-called "precession of the equinoxes" is 25,770 years. This is the time in which - according to astronomical academia -  our entire solar system completes a full 360° "equinoctial precession" (aka "The Great Year"). So let us try and multiply our 4224 figure by 6 - and see how it goes. You may rightly ask: "Why exactly by 6?" I promise to get back to that question ('the wondrous 6 factor') later on. For now, let's see what we obtain :

4224 years X 6 = 25,344 years > or 9,256,896 days 

9,256,896 days = EXACTLY 25344 Sun revolutions (of 365.25 days)
9,256,896 days = EXACTLY 12672 Mars revolutions (of 730.5 days)
9,256,896 days = EXACTLY 15840 Venus revolutions  (of 584.4 days)
9,256,896 days = EXACTLY 79200 Mercury revolutions  (of 116.88 days)
9,256,896 days = EXACTLY 316800 Moon revolutions (of 29.22 days)
9,256,896 days = EXACTLY 316800 Moon revolutions (of 29.22 days)
9,256,896 days = EXACTLY 2112 Jupiter revolutions (of 4383 days)

If we now consider that 25,344 years represents a full 360° 'equinox precession' of our entire system, we should be curious to find out how many solar years it takes for the Sun to revolve by 1°. Here we go:

25344 / 360 = 70.4 solar years (time employed for the Sun to cover 1° of the full 360° 'equinox precession circuit'.)

 We see that 70,4 solar years (or 25713.6 days) equals precisely:

70 years + another 146.1 days ( i.e. 5 X 29,22)
35.2 Mars orbits (730.5 X 35.2 = 25713.6 ) - or 33 synodic periods of Mars (779.2 X 33 = 25713.6)
44 Venus Mars orbits (584.4 X 44 = 25713.6 )
220 Mercury Mars orbits (116.88 X 220 = 25713.6 )
880 Moon Mars orbits (29.22 X 880 = 25713.6 )

Let us also take note that 704 years (i.e. 70.4 X 10) is 1/12th of 2112y ,1/6th of 4224y - and 1/36th of 25344years. 
(Also, the Babylonian term "sar"determines a period of 3600y which, multiplied by 7.04 = 25344).

We can now calculate the precession rate - per-century - of the TYCHO-SSSS system :

If the Sun precesses by 1° every 70.4 years, then every 100 hundred years it will precess by:
100 / 70.4 = 1.42045° (periodic) - (or 5113.6363 arc seconds).

In 25344 years, there are 253.44 centuries. Now, if we multiply these with our precession rate, we obtain:
253.44 X 1.42045° = 360°   

Hence, our ANNUAL precession rate is 5113.6363/ 100 = 51.136363 arcseconds*.

In fact, 51.136 (36 periodic) X 25344 = EXACTLY 1,296,000 arcseconds (i.e. a full 360° circle)

NOTE: observational data has the (current) annual solar precession rate at 50.3 arcsecs. This value is about 1.67% shorter than our TYCHO-SSSS rate of 51.13636 arcsecs. This discrepancy will be explained further on. 

We shall now take a closer look at what is commonly known as the 'precession of the equinoxes" - and move on to my postulated "PVP orbit". This is where, as they saying goes, "it gets really interesting". Please stay with me.


******************************************************************************************

THE P-V-P ORBIT (Polaris-Vega-Polaris)

Undoubtedly, the most 'novel' and, you might say, 'revolutionary' proposition of my TYCHO-SSSS model is that Earth physically moves around an orbit which extends from our current 'North Star' Polaris to Vega - and back again to Polaris, the diameter of which corresponds to the cycle known as the "precession of the equinoxes". 

As current theory has it, this circle is virtual / fictitious - i.e. is not caused by any actual, physical displacement of Earth in space. It is said to be caused by  a wobbling motion (or 'nutation') of Earth's (supposed) axial tilt which, over time, would slowly rotate the viewing angle of our Northern (and Southern) stars every 25770 years or so (the so-called 'LuniSolar' theory). Could this theory possibly be in error? Could Earth, instead - and more simply - be physically moving around an orbit positioned below these alternating 'North stars' ? As we will see, this is more than a hypothetical possibility.  As it is, I am about to demonstrate that this is most likely  the case.



The "Wobble Hypothesis" - or "Lunisolar theory"
An illustration of the bizarre, yet still currently held (by academia), so-called 'LuniSolar' theory -   which contends that Earth slowly wobbles around its top (as illustrated ) over 26,000 years or so. This queer "Wobble Hypothesis" was cobbled together once it was realized that the Copernican model failed  to account for a fundamental, empirically-observable fact of our system's motions vis-à-vis the starfield : that is, the slow yet constant 'regression' of the entire starfield !  

Other independent researchers have (fairly recently) pointed out  a number of insurmountable problems with what is known as the 'LuniSolar precession theory': 

"First of all, if this axial top-like motion were occurring, then we'd expect to lose a small amount of time each day. We would start to notice a small shift in our calculations for eclipses, planetary transits and such, which have to be measured fairly accurately. The motion of the planets that we observe in the sky should also precess along with the rest of the stars and galaxies in the background, but according to Karl Heinz and Uwe Homann in their Venus transit studies, they don't."  
http://www.sott.net/article/230480-Is-the-Sun-Part-of-a-Binary-Star-System-Six-Reasons-to-Consider     

and...

"Logically, if the earth wobbles 50.3 arc seconds in 365 days, 6 hours, 9 minutes and 9 seconds (a time period equivalent to a sidereal year) then it should wobble 99.99% of this amount in 365 days, 5 hours, 48 minutes and 46 seconds (a tropical year time period). But because the cause of precession has been misdiagnosed – the lunisolar theory has no way to logically answer the question – so the question becomes a riddle."
http://www.binaryresearchinstitute.org/bri/research/calculations/precessionmeas.shtml


If Earth has no axial tilt and doesn't wobble / nutate (as proposed by the TYCHO-SSSS) - there follows that  we need to explain how our 'North Stars' periodically change over the centuries - a fact supported by  various historical records from ancient times (Thuban, for instance, was our "North star" circa 5000 years ago).        

Let us test out this working postulation and see if we can find out the speed at which Earth travels - as it completes its 360° / 25,344-year circle (from Polaris to Polaris - via Vega) which we will henceforth call  the "PVP orbit". For this, we will need the diameter of that 'equinox-precession' circle - whereas we have already seen, of course,  that the Sun needs 25,344 years to PRECESS around it. Logically, the speed / rate of the Sun's precession will then relate to Earth's speed around that same 360° circuit. We should therefore  be able to  - at long last! -compute the TRUE speed at which Earth moves across space.

The celestial distance (expressed in RA) between the stars Ruc and Thuban - as illustrated below - is ca. 3h of RA. We see that this Ruc-to-Thuban distance is slightly larger than our "PVP" orbit's diameter.  Hence, we will 'go with' what should be a fairly accurate estimate of its size (expressed in RA) : 2h56 min.

Fig. ...: THE P-V-P orbit 





What the TYCHO-SSSS proposes is that this "North-star alternation" is not due to this alleged 'wobble' of Earth's - but is caused, quite simply, due to Earth PHYSICALLY moving around a circular orbit passing below our various / alternating "Northern stars". Our Earth employs 25344 years to complete one such "PVP" orbit. 
 
Now, perusing the NEAVE Planetarium, one can verify that the Sun, as it moves around our 360° celestial sphere, covers the angular distance of 2h 56min of RA (right ascension) in 44 days - or 1056 hours. We can therefore perform a simple calculation to establish the circumference of our PVP orbit. Assuming (as we do) that the Sun travels at 107,226km/h, in 1056 hours the Sun will cover the distance of :

107,226km/h X 1056 = 113,230,656 km (hence - this will be the diameter of our "PVP" circle).

Therefore, the circumference of our circle is : 

113,230,656km X π = 355,724,296 km (i.e. the circumference of our postulated "PVP orbit")       

There are 8766 hours in one solar year. Therefore, 25,344 years will add up to: 

8766 hours X 25,344 years = 222,165,504 hours 

Alright - now that we know the time Earth will employ to cover this distance of 355,724,296km -  we can compute the speed at which Earth moves around space. Here we go:

355,724,296km / 222,165,504 h = 1.601168 km/h - or, very nearly 1mph !!! (1mph=1.609344km)

That's right, folks : 1 mph!  This is how 'fast' Mother Earth moves around space! 


OVERHEAD VIEW OF THE TYCHO-SSSS
The Sun/ Mars binary system - with Earth at its barycenter:

In the TYCHO-SSSS, Earth revolves in clockwise motion (as viewed from above the North Pole) at the tranquil speed of 1mph - or 1.6km/h, slowly carrying its own Moon around a 25344-year circular orbit spanning from star Polaris to Vega and back to Polaris. Earth is located at the barycenter of a binary system composed of the Sun and Mars (both revolving around counterclockwise orbits). The Sun carries its own two moons, Mercury and Venus, around an orbit lasting about 365 days (during which Earth completes 366 revolutions around its once-a-day, counterclockwise-rotating axis). 

Mars and the Sun are 'locked' (at a perfect 2:1 ratio) in an intersecting circular 'ballet' - with Mars (the smaller of the two 'dancers') circling in rings around the Sun - once every 16 solar years or so. ALL the planets and moons revolution periods are 'locked' in a wondrous 1:4:20:25 orbital resonance' centered on our Moon's 'baseline period' of 29.22 days :

Moon: 1 X 29.22 (29.22 days)
Mercury: 4 X 29.22 (116.88 days)
Venus: 20 X 29.22 (584.4 days)
Mars: 25 X 29.22 (730.5 days)




RELATIVE SIZES OF EARTH & SUN ORBITS :
Earth's orbit is about 2.6X smaller than the Sun's orbit - or more precisely:
939,943,116km / 355,724,296 km = 2.642336 X smaller 

We can now verify how many orbits the Sun should complete - as Earth completes 1 orbit:
Dividing the orbital speed of Sun with the orbital speed of Earth, we get this 'factor' value:
107,226km/h / 1.601168 km/h = 66967.36382440818    
Dividing that factor with the Earth>Sun orbital size difference, we obtain :
66967.36382440818  / 2.642336  = 25344.0000909832 (or, if you will, precisely 25344years)

NOTE: this time, we have obtained the number "25344" in a wholly different way than our previous method - which was but a reasoned deduction based on the relative cycles of Mars, Venus, Mercury and the Moon. 

SUN data :
The Sun employs 365.25 days to complete one revolution around its orbit.
It completes a full equinoctial precession in 25344 years.
Orbital speed: 107,226 km/h - or 66627.15 mph
Daily distance covered by the Sun: 107,266km/h X 24h = 2,573,424 km
Annual distance covered by the Sun: 939,943,116km

Diameter of Sun's orbit:
939,943,116 km (circumference) /  π  = Ø 299,193,439 

EARTH data:
Earth employs 25,344 years to complete one revolution around its 'PVP' orbit.
It is located at the (slowly rotating) barycenter of the Sun > Mars binary system
Orbital speed: 1.601688 km/h (or 0.9949197mph - or just about 1 mph)
Daily distance covered by Earth: 1.601168km X 24 = 38.428km
Annual distance covered by Earth: 1.601168 km/h X 8766h = 14,035.84 km 

Diameter of Earth's 'PVP' orbit
355,724,296 km (circumference) /  π  =  Ø 113,230,656 km 


Ratio of EARTH's orbital speed versus SUN's orbital speed : 
1.601688km/h is 0.00149326% of 107,226km/h 


Let us henceforth call this 0.00149326 value our "PVP CONSTANT". 
As we will see, this value will prove invaluable as we proceed putting the TYCHO-SSSS model to the test. For the first time (ever), we have a value consituting a RELATIVE speed ratio between the Sun and Earth. The age-old question, "orbital speed in relation to WHAT?", can now - finally - be answered. 

We have seen that Earth's "PVP orbit" is 2.642336 X smaller than the Sun's orbit. 

Each year, Earth covers 14.035.84km. If we multiply that value by 2.64233 (so as to 'project it' onto the Sun's larger orbit), we get: 14,035.84 X  2.642336 = 37,087.4 km.

If we now divide the circumference of the Sun's orbit  with this value, we obtain :

939,943,116km / 37,087.4km = 25,344.00135 > or near-exactly 25,344.

Also, if we divide the circumference of Earth's orbit  with the yearly motion of Earth's orbit - we obtain :

355,724,296km / 14,035.84 = 25,343.997 > or near-exactly 25,344.

So far so good. We shall now see how the TYCHO-SSSS model fares with regards to the most basic, long-established (and undeniable) observations pertaining to the Sun's annual motions around our planet.


SIDEREAL DAY vs SOLAR DAY

Following one revolution of Earth around its axis, it realigns with a given star in 23h56min. Since the Sun has moved along ("Eastwards") during that time, Earth will need another  4min to realign with the Sun - as illustrated below. As you can see, it is a pretty straightforward explanation for our solar vs sidereal days:





"TROPICAL YEAR" versus "SIDEREAL YEAR"

You may have asked yourself this (quite pertinent) question: why on Earth is the sidereal DAY shorter than the solar DAY - whereas the sidereal YEAR is 20.4min longer than the solar ("or "tropical") YEAR? 

The Copernican model has a rather convoluted 'explanation' for this curious space oddity. 

Here's a standard explanation of the 'tropical year' vs the 'sidereal year'  :
source: http://www.public.asu.edu/~mjwhite/Sidereal%20and%20tropical%20years.pdf 

And here is a pertinent question raised by the Binary Research Institute :

Sidereal vs. Solar Time: Why is the delta (time difference) between a sidereal and
solar day attributed to the curvature of the Earth’s orbit (around the Sun), but the delta
between a sidereal “year” and solar year is attributed to precession?
http://www.binaryresearchinstitute.org/bri/research/papers/BRI-Evidence.pdf

To be sure, it makes no sense whatsoever - within the Copernican model - that Earth, having completed one revolution around the Sun and realigned with it - should need another 20.4 minutes to realign with the background stars! 

We will now see how Earth's 1mph motion around its PVP orbit readily explains the hitherto 'mysterious' and never-fully-understood / nor satisfactorily explained "tropical year" and "sidereal year".

Average duration of tropical year :  365.24219 days - or 525,948.753 minutes
Average duration of sidereal year : 365.256363 days - or 525,969.163 minutes 

Ergo - a discrepancy of 20.4 minutes - or a difference of 0.003881%

As it is, 20.4min equals 0.003881% of 525,600 min (525,600min = one calendar year of 365 days.)

Now, the currently observed / accepted annual 'constant of precession' of the Sun against the starfield  is 50.29 arcseconds - or 0.003881% of 1,296,000 arcseconds (1,296,000 arcseconds  = a full 360° circle). In fact, 0.003881% of 360° equals 0.01397° - which in fact equals 50.29 arcseconds. Hence, the so-called 'constant of precession' simply represents the angular variation of Earth's rotation. 

In the TYCHO-SSSS, here's how this can be, quite plainly,  illustrated :



Earlier on, we determined the (actual) ANNUAL 'equinoctial precession' of our TYCHO-SSSS system to be: 

51.13636 arcseconds-per-year 

The above graphic illustrates the precise reason for it to be larger than the observable value of 50.29".

51.136 arcseconds = 0.0039457% of 1,296,000 arcseconds 

Note that 0.0039457% of  9,256,896 days (i.e. one TYCHO-SSSS "Great Year" of 25344years) is 365.25 days.

Remember that, in the TYCHO-SSSS, Earth's orbital speed is a mere 0.00149326% of that of the Sun. Now, since Earth's PVP orbit is 2.64233X smaller than the Sun's orbit, we will therefore have to multiply our "PVP CONSTANT" (0.00149326) by 2.64233 - in order to obtain the 'radial equivalence' of Earth's motion vis-à-vis the Sun's orbit. (If you wonder what is meant by "radial equivalence" - see below diagram).

Here is what we obtain:  0.00149326% X 2.642336 = 0.0039457 % 

Now, in one year, Earth will cover 14,035.8km of its "PVP" orbit - a distance which, in fact, equals precisely  0.0039457% of its circumference of 355,724,296km (postulated by the TYCHO-SSSS) .

(Also, in one year, the Sun will cover 0.0039457 % of its full 25344-year "Great Year" journey).

In other words - it logically follows that the so-called "equinoctial precession" is simply caused by Earth's leisurely (1mph) motion around its "PVP" orbit ! 

Thus, the Sun does not - technically speaking - "precess in relation to the starfield":  in actuality, as Earth moves each year (clockwise or 'Westwards') by 0.00149326% of the Sun's annual motion, we will realign each year with the Sun at a slightly  'more Westwardly' point of its orbit - by an amount which will correspond 'radially' to 0.0039457% of the Sun's orbit circumference. 




However, as we will see further on, our current Gregorian calendar count causes this Westwards drift to be reversed - so that the Sun appears (to earthly observers) to secularly drift Eastwards against the stars!
     
The time difference between a sidereal and a tropical year is 20.4 min - or 1224.5 seconds. 

As of our TYCHO-SSSS reckonings, we know that the Sun needs 1245 seconds (i.e. 1.67% more than 1224.5 seconds) to cover 37,087km - i.e. the 'radial equivalent' of Earth's yearly 14,036-km motion. We are therefore assuming that the correct 'constant of precession' is 1.67% larger than the empirically observable value.  

To further verify our 51.13636" value, let's see how much the Sun moves - as it drifts by 1 arcsecond as seen from Earth:
 
As we divide the Sun's orbit circumference (939,943,116km) by 1,296,000 arcseconds (i.e. 360°), we obtain:

939,943,116 / 1,296,000 = 725.26475km (which will be the distance covered by the Sun in 1 arcsecond - as viewed from Earth)

So here is how many km the Sun will cover in 51.13636 arcseconds:

51.13636 X 725.26475km = 37087.4km - i.e. a perfect match with our 37.087.4km value obtained earlier - which we found to be equal to 0.0039457% of the Sun's orbit circumference.

If we now multiply our 0.0039457% 'factor' (i.e. the Sun's annual rate of 'precession')  by 25344 (the number of years needed to complete a full / 100% equinoctial precession - aka "The Great Year"), we obtain :
      
0.0039457 % X 25344 = 99.9998208 %  or practically 100% (of a full 360° circle - or 1,296,000 arcseconds)

It would seem that our 25344-year reckoning of the duration of the "Great Year" holds water. 


**********************************************************************************

I will now proceed to expound how the PVP orbit goes on to provide logical explanations for a series of historical & puzzling enigmas' of our so-called solar system. As one may easily imagine, the NON-AWARENESS of the PVP orbit's existence (what with Earth's tranquil, 1mph motion around it) has generated many 'mysteries' for astronomers across the centuries and, consequently, a large number of  flawed/ fallacious theories. Here follows a shortlist of age-old 'astronomical enigmas' for which the TYCHO-SSSS model can provide perfectly logical / rational / uncomplicated and easy-to-visualize answers to :  

- the empirically observable ANALEMMA phenomenon, a centuries-old (yet never-resolved) occurence 

- the extremely minute / 'microscopic' rates of observed STELLAR PARALLAX

- the many failed experiments at detecting the (purported) HYPERSONIC ORBITAL SPEED of Earth 

- the fluctuating seasonal intervals between successive MARS OPPOSITIONS 

- the explanation for the (illusory) observations which led astronomer royal James Bradley to formulate his so-called "ABERRATION OF LIGHT" theory - which led to the (hence spurious?) determination of the speed of light. 

- the geometric / mathematical reasons for the necessity of our 'LEAP YEARS' - in order to 'adjust' our earthly (Gregorian) calendar

- the currently-observed INCREASING RATE of the so-called "constant of precession" (simply caused, as we will see, by the peculiar Gregorian calendar count) 

*************************************************************************************


 THE ANALEMMA - and the EQUATION OF TIME
Or how the TYCHO-SSSS provides a 'timely explanation' of our system

Everyone has heard of the proverbial broken clock "which will at least be right twice a day".  However, not everyone knows that our working clocks are, cosmically speaking, almost never 'on time'.  In fact,  our earthly clocks only 'agree with the Sun's midday zenith' 4 times a year. The remaining part of the year, our clocks will be constantly slipping 'in-and-out of synch' with the Sun - by  as many as  +16 minutes or -14minutes, depending on the season/ time of year. Any patient photographer can empirically verify this fact - by setting up a tripod and snapping pictures of the Sun at noon (say, every 10 days or so) for a full year. What he/she will obtain is an elongated "8"-shaped pattern (fatter at one end) well-known to astronomers - by the name of 'analemma'.   

"The Sun's movement against the starry background is gradual - on average about 1 degree a day - but its motion accelerates during northern-hemisphere autumn and winter, then slows down during spring and summer." https://books.google.it/books?id=3WvCAgAAQBAJHYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"&HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"lpg=PP1HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"&HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"dq=bradley%20parallax%20booksHYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"&HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"hl=itHYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"&HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"pg=PA20#v=onepageHYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"&HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"q=autumnHYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"&HYPERLINK "https://books.google.it/books?id=3WvCAgAAQBAJ&lpg=PP1&dq=bradley%20parallax%20books&hl=it&pg=PA20#v=onepage&q=autumn&f=false"f=false 

This is how the Sun 'behaves' throughout the year:




Extract from "Astronomy: explained upon Sir Isaac Newton's Principles, Volume 1" - by David Brewster :


https://books.google.it/books?id=x_RYAAAAYAAJHYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"lpg=PA126HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"ots=XKMyidn1QUHYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"dq=6%20hours%20equation%20of%20time%20leap%20yearHYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"hl=itHYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"pg=PA114#v=onepageHYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"q=114HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"&HYPERLINK "https://books.google.it/books?id=x_RYAAAAYAAJ&lpg=PA126&ots=XKMyidn1QU&dq=6%20hours%20equation%20of%20time%20leap%20year&hl=it&pg=PA114#v=onepage&q=114&f=false"f=false


Why? What exactly causes the curious analemma phenomenon? To be sure, this lateral, west-east seasonal drift of the Sun has never been satisfactorily explained / accounted for - by ANY existing solar system model.  The currently accepted (Copernican) 'explanation' - which submits that the analemma is caused by Earth's "axial tilt and its elliptical orbit" - utterly fails to provide a plausible account for its regular, annual occurence. 

Enter the so-called  "EQUATION OF TIME"... have you ever heard about it?
 
Here is what you can read on Wikipedia - regarding the "Equation of Time":

"The equation of time is the east or west component of the analemma, a curve representing the angular offset of the Sun from its mean position on the celestial sphere as viewed from Earth. Apparent time, and the sundial, can be ahead (fast) by as much as 16 min 33 s (around 3 November), or behind (slow) by as much as 14 min 6 s (around 12 February)." (total :  30.65minutes)
https://en.wikipedia.org/wiki/Equation_of_time 
  

As it is, the so-called "Equation of Time" is a man-made convention devised to deal (to the best of our earthly capacities) with this rather tricky problem which comes down to this nagging question :  how can we possibly measure accurately the passing of time - by calibrating our clocks with the Sun's motion - if that pesky Sun keeps accelerating and decelerating? Our ancestors dealt with this problem as smartly as they could - since our clocks are now fairly decently  keeping track of our 'fluctuating' time.  

In the TYCHO-SSSS model, Earth's orbit is located within the Sun's orbit, the two celestial bodies therefore alternating six months of 'parallel' motions - and six months of opposed motions. This will naturally cause the Sun to appear  to constantly 'accelerate and decelerate'. Of course, the Sun doesn't actually physically accelerate and decelerate. The following graphic illustrates what - in reality - most likely goes on :

(Fig X) 



Here's a diagram I have snatched from Wikipedia  (and adapted / refined with colors and numbers)  -  to illustrate the analemma phenomenon with its 4-phase (or '4-seasons') sine wave of variable amplitudes:



So, in one year, the observed 'lateral drift' of the Sun adds up to 30.65min of RA (Right Ascension). However, this is without accounting for the fact that, every four years, an extra 3min of RA is added 'artificially' / by convention (with the 'leap-year gimmick'). Therefore, one fourth of 3min (0.75min) should be added to the annual count of the Sun's lateral drift, giving us a total of 30.65min + 0.75min = 31.4min.     

We shall now verify whether it can be proved - mathematically  - that the Sun's lateral fluctuations (as observed in the analemma) are indeed caused by the 'interaction' between the Sun's and the Earth's motions. Remember: in the TYCHO-SSSS, Earth travels at 1.601168km/h (or ca. 1mph) - which is 0.0014932% of the Sun's orbital speed of 107,226km/h.

Since our analemma sine wave is constituted by four distinct "accelerating & decelerating" phases, we may simply divide our 31.4min-figure by 4, in order to obtain the average amplitude of the Sun's yearly lateral drift :

31.4min / 4 = 7.85min (which will be the average seasonal amplitude of the Sun's annual East-West drift) 

In one calendar year (of 365 days), there are 525,600 minutes. As we plug in our 7.85 value into our percentage calculator we find out that :

7.85 equals  0.0014935% of 525600  or - lo and behold - almost precisely 0.0014932, our "PVP constant"!




Interestingly, the Sun (travelling at 107,226km/h) will cover 14036km (the annual distance covered by Earth) in exactly 7.85 minutes.

At this point, I shall get to the crux of the matter. You may have (and rightly so) sometime asked yourself : WHY does the Sun appear to accelerate for all of 3+months - between November and February - yet does so for only 1.5 months between June and mid-July? What causes this quite substantial seasonal variation?

This is when we necessarily need to envision the actual / physical path around which we earth dwellers are carried around during the course of one year. In the TYCHO-SSSS model, of course, Earth moves at  the tranquil speed of 1mph - and covers only about 14036km annually (that is to say, little more than Earth's own diameter). 

In the below graphic, I have plotted the yearly trajectory of a person living in the UK. As I made this graphic, I had in mind James Bradley, the man credited to have 'proved once and for all' the Copernican assumption  that Earth revolves around the Sun. Bradley was, of course, based in London or thereabouts as he made his famous observations which led him to concoct his quite fanciful and convoluted "aberration of light" theory. To be sure, the peculiar "stellar parallax" that  Bradley had observed made no sense at all within the Copernican heliocentric model - and we'll see about that later in my "Aberration of Light" chapter. The thing is, if you read Bradley's detailed, chronological descriptions of his famed observations of the seasonal displacements (as viewed / perceived from Earth) of star Gamma Draconis - while keeping an eye on my below graphic -  it becomes obvious that Bradley was simply misled / confused by the very geometric nature of the annual trajectory of his own body (and telescope).  




Obviously, the closer an observer gets to the North / or South poles - the less pronounced this 'prolate trochoid' will be :  only  the observations of an astronomer stationed for a full year at the centre of the Polar circles will not be affected by it.   
Yep -a "prolate trochoid"... That's what they call it in 'geometric jargon' . Sounds like some horrible, prehistoric monster ! :-D



In any event, our earthly "prolate trochoid" trajectory certainly goes to explain - in a quite satisfactory manner, the exact reasons for the occurence of the Analemma and - consequently - also reveals the precise motives for our need of the Equation of Time :  




In conclusion:  the lateral-drift component of the alemma 'phenomenon' is caused by the VELOCITY FLUCTUATIONS between the motions of Earth and the Sun - caused by their alternating orbital directions and by the peculiar trochoid-shaped annual trajectory of earthly observers (located at any given distance from the poles).


*****************************************************************************************

Let us now have a look at our Moon. Does our moon provide any clues / or confirmations supportive of the TYCHO-SSSS? We shall now see that the answer to this question is a resounding: "YES!"


THE MAYA - AND THEIR ASTOUNDING 29.22-day MOON PERIOD AVERAGE

Now, I can hear someone say: "Hold on, isn't the average / established synodic period of the moon 29.53 days?" Yes, that is indeed what an earthly observer / astronomer can  or may  (hastily) empirically  conclude.  Yet, since we now know about Earth's (fluctuating) 1mph-motion around the "PVP" orbit, , that figure  will depend on the time period chosen to compute the Moon's average synodic period. Therefore, only by spending decades of careful observations will a correct average be reached. In fact, that's what the amazing Mayan astronomers / mathematicians most likely did. In any case, it appears they were patient and methodical enough to compute the correct AVERAGE synodic period of the Moon (29.22 days) - which is by no mean feat, due to the ever-fluctuating lunar periods.

For instance, if you choose a timespan of 65 years (a time interval in which the Moon returns to roughly  the same place in the sky), you would conclude that the Moon's average synodic period is "29.53 days", because:

65 X 365.25 = 23741.25
If we divide 23741.25 by 67 (the number of Moon revolutions in 65 solar years), we obtain 354.347 
Therefore, one ("long ESI") synodic period of the Moon: 354.347 / 12 = 29.53 

Whereas if you choose a timespan of 19 years (another time interval which has the Moon returning to virtually the same spot in the sky), you would conclude that moon's average period is "28.91 days", because:

19 X 365.25 = 6939.75
and 6939.75 / 20 (the number of Moon revolutions in 19 solar years) = 346,98
Therefore, one ("short ESI") synodic period of the Moon: 346,98 / 12 = 28.91

But the smart Mayas evidently knew better - and more correctly summed the two above figures and divided them by two  - in order to get the BEST average synodic period of the Moon: 29.53 + 28.91 = 58.44 / 2 = 29.22 

The Moon also has a little-known, almost exact 8-year synodic period in which it realigns with the Sun every 2922/or 2923 days (i.e. ca. 100 X 29.22 in 8 years - which, of course, equals 5 Venus periods of 584.4 days).

Therefore, 29.22 is what we may call the "True Mean Moon period". The higher and lower observed values (29.53 and 28.91) are likely nothing but seasonal fluctuations caused by a combination of the Moon's variable distance from Earth - and its 1mph motion (along with Earth) around the PVP orbit which, of course, proceeds in a clockwise direction (as opposed to the Sun's counterclockwise orbit) - as expounded earlier.




The various periods of the Moon make for a most interesting / harmonious 'graphic pattern' :




Once again, as we look at the Moon's fairly stable / constant sidereal period, the Copernican model (featuring Earth and the Moon circling the Sun in a 300Mkm-wide orbit) fails the 'plausibility test' :





ABOUT LUNAR / SOLAR ECLIPSES : The Exeligmos

The Saros cycle : https://en.wikipedia.org/wiki/Saros_(astronomy )
"The saros is a period of approximately 223 synodic months (approximately 6585.3211 days, or 18 years, 11 days, 8 hours), that can be used to predict eclipses of the Sun and Moon."

Note that the 18-year Saros is, in fact, also equal to 16 full moon cycles."

Now, the 18-year Saros cycle is really just part of a longer and more 'complete' Triple Saros cycle (of 19756 days)  known as the Exeligmos :
https://en.wikipedia.org/wiki/Exeligmos

The Mesopotamians, and in particular the Babylonians, were one of the first civilisations to keep records of their astronomical observations. Because of this, they were also the first to notice a remarkable pattern: that eclipses of a particular type are repeated every 18 years, and more closely repeated every 54 years. The 18 year period became known as the Saros, and the 54 year one as the Triple Saros or Exeligmos.
http://www.inconstantmoon.com/cyc_ecl3.htm

As a 54-year Exeligmos is completed, our Moon returns to its 'starting position' - which means that an eclipse (solar or lunar) will recur over almost the same geographic region as it did 54 years earlier. Almost - but not quite : it's important to note that, at the completion of Exeligmos, the eclipse will return to a place 90 minutes 'earlier' in our celestial sphere (of 1440min). That is, it will 'gain' exactly 1/16th of right ascension :

In fact : 1440 / 90 = 16    

Now, here's when it gets really interesting - as far as concerns the TYCHO-SSSS (what with its 1mph-motion of Earth and the Moon).  As it 'happens', the distance covered by Earth & Moon in the course of a 54-year Exeligmos  turns out to be pretty much exactly the diameter of our Moon's orbit: 

19756days X 38.428km = 759183km 

This is very nearly the exact orbital diameter of the Moon (763000km). In fact, it's only about 3700km  shorter (however, please note that 3700km is roughly the diameter of the Moon itself ) :
 



   
It would seem to make sound geometric sense that, whenever Earth has covered a distance equal to the Moon's orbital diameter, the Moon then "resests" to its original spatial / geographical starting point.   

Note then that the Triple Saros cycle - or "Exeligmos" (of 19,756 days) contains 48 FULL MOON CYCLES :

19,756 / 411.78433 days (a full moon cycle) = approx 48 
https://en.wikipedia.org/wiki/Full_moon_cycle

Yet again, we have a 16 multiple (3 X 16 = 48), showing just how much the "unsung 16 factor" pervades the arithmetics of our system's celestial bodies - all being seemingly synchronously 'locked' in orbital resonance at various exact multiples of the Moon's mean orbital period.   



THE PUZZLING MARS OPPOSITIONS INTERVALS 

We will now see how Mars's peculiar 'space-time behavior' can be explained by the TYCHO-SSSS model. It is a fact that the Mars oppositions occur at considerably unequal / fluctuating time intervals.  So how  can this be reconciled with the constant, invariable orbital speed of Mars - as proposed by the TYCHO-SSSS?

Well, we know that the Mars oppositions occur at decidedly variable distances from Earth (from about 56Mkm on an average August opposition to about 101Mkm on an average February opposition), yet Mars itself returns at evenly-spaced opposition points around what we may call its 'opposition ring'. To be sure, this peculiar 'behavior' of Mars is something which the Copernican model simply cannot account for in any rational way.

As we visualize these fluctuating intervals within the TYCHO-SSSS model - we can readily  see why and how this (only apparent) 'space-time oddity' occurs. It has a fairly simple and straightforward geometric explanation - as illustrated in the below, comparative graphic :              

Fig. X :



Yet again, we can envision how the notion of 'elliptical orbits and accelerating / decelerating planets' (as postulated by Kepler's "Laws of planetary motion") is illusory and, ultimately, plain and simply wrong.   

Diameter of the virtual 'ring' formed by the seasonal Mars oppositions : 156.7 Mkm :
Fig.X :



****************************************************************************************


Why MARS appears to rotate around its axis a trifle slower than Earth
We will now see how the Mars motion & rotation are ALSO 'intimately interlocked' with Earth's - as one would (intuitively) expect in a binary system composed of the Sun & Mars - with Earth at its barycenter.  
As of all (earthbound) historical astronomical observations, Mars appears to rotate once around its axis every 1477 minutes (or 24.6h) - as opposed to Earth's 1436 minutes. This is a difference / 'discrepancy' of 41 minutes. At first, one may rightly wonder, "how come Mars rotates around its axis at almost the same rate as Earth?" To be sure, in the Copernican model, Mars is just one of various planets revolving around the Sun. WHY would its axial rotation period almost equal (yet not quite) that of Earth? Consider this : as we have seen, the rotations of the Moon, Mercury and Venus are ALL synchronous or/and 'tidally locked' (in one way or another) to Earth's rotation - so WHY would Mars be an exception to this 'rule'?     
Could Mars' rotation also be, in actuality, synchronous with Earth's rotation - even though it doesn't appear so to an earthly observer? Let's see if we can find any mathematical indications in support of this hypothesis.
Each year - as we have seen - Earth covers 14035.84km - or 0.0039457% of Earth's total 'PVP' orbit.
Since the orbit of Mars is 4.02585 X larger than the Earth's orbit, this  will "radially" correspond to a 'slice' of Mars' orbit equal to:
14035.84km X 4.02585 = 56,506 km
In fact, 56,506km is exactly 0.0039457% of Mars' orbital circumference of 1,432,093,749.75km !
Now, at its orbital speed of 81,684.565 km/h, Mars will employ ca 41.5minutes to cover 56,508km. 
This would appear to nicely explain why Mars APPEARS (to an Earthly observer) to rotate around its axis approximately 41 minutes slower than Earth: since any earthly observers / astronomers will be 'visually offset' by about 41 min with Mars, they will (erroneously) conclude that Mars rotates around its axis 41min slower than Earth. In all likelihood, Mars actually rotates once around its axis in the exact same time as Earth.

****************************************************************************************

the "LEAP YEAR" : what is it for?

Let us first find out (by perusing the NEAVE Planetarium) just how much we are artificially 'tweaking' the Sun's observed precession against the starfield - to fit our ideal, integer 365-day calendar - by the means of the [url=https://en.wikipedia.org/wiki/Gregorian_calendar[/url] Gregorian reform's leap year convention. As any astronomy buff will know, the leap year 'gimmick' was introduced in order to prevent (as much as possible) our calendar from 'drifting out of synch with Easter' (and other religious festivities), so to speak. 

You've likely asked yourself at some stage in life why our calendar would possibly have an integer value of 365 days (or 366 on a 'leap year') while, on the other hand, it is said that one year lasts for ca. 365 days + 1/4 (or 365days + 6hours). Does this mean that, from one year to the next, Earth ends up 'skewed' by 1/4 of a rotation? Of course not: everyone knows that we add 1 day (i.e. one Earth rotation) every 4 years in order to get this 4-year-sequence of days: 365+365+365+366 = 1461/4 = 365.25. Still though, where do these 6 hours 'come from'? Why on Earth - if our planet were circling the Sun around a 360° circle - would we not have a whole / integer number of days in a year? 

The following graphic illustrates what the 'problem' might be :




As viewed in the TYCHO-SSSS model, the "leap year" simply attempts to 'cancel out' Earth's lateral, 1mph-motion - so as to keep the Sun oriented towards the same constellations year after year.  February 29 allows the Sun to recover the 'lost terrain' in relation to the starry background - as it adds 24 hours to our annual calendar count every 4 years. Each year, 6 hours are 'lost'; in two years, 12 - and in three years 18. On the fourth year, we just let the Sun travel for another 24 hours so as to 'reset' the Sun's alignment with the stars - as viewed from Earth. 

UNDERSTANDING SECULAR PRECESSION

[quote] "At present, signs and constellations are about one calendar month off. In another 2000 years or so, they’ll be about two months off." http://earthsky.org/space/what-is-the-zodiac [/quote]

Astronomers have long known that - every 2000 years or so -  the starfield will appear to drift (Eastwards -as seen from Earth) by roughly one of the 12 zodiac constellations. In the TYCHO-SSSS, this is naturally caused by Earth's slow (1mph) progression round its PVP orbit. We shall now see how the TYCHO-SSSS model provides a logical answer to this puzzling - yet hitherto unresolved "cosmic riddle". 

Here's an extract from "The History and Practice of Ancient Astronomy" - by James Evans:




https://books.google.it/books?id=LVp_gkwyvC8CHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"lpg=PA245HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"dq=west%20to%20east%20precession%20of%20starfieldHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"hl=itHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"pg=PA245#v=onepageHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"qHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA245#v=onepage&q&f=false"f=false

"Because of precession, the position of the sun at the equinoxes and the solstices  with respect to the zodiacal constellations changes over time. For example, in about 2000 B.C.E. the spring equinox lay in Libra, and the summer solstice in Leo; whereas by 1800 C.E., the spring equinox had moved to Virgo and the summer solstice to Cancer. (...) " http://www.binaryresearchinstitute.org/srg/Docs/Egyptian%20Stars%20under%20Paris%20Skies%20by%20Jed%20Buchwald.pdf

The TYCHO-SSSS model can 'graphically visualize' why our summer solstice - for instance - will drift from one zodiac sign to the next in 2112 years (Note that 2112 X 12 = 25344years). Note: this is a 30° drift every 2112 years - which, of course, adds up to a full 360° circle in 25344 years (30 X 12 = 360) . 




Note that 2112 years = 771392 days. As we saw earlier on, the Sun (traveling at 107226km/h) covers 0.0039457% of its 25344-year "Great Year" journey.  In fact, 0.0039457% of 771392 days is 30.4368 days (or 1/12th of 365.24219 days - i.e. a 'perfect month')


THE GREGORIAN CALENDAR 

[QUOTE]"The Gregorian calendar aims to keep the vernal equinox falling on or close to March 21; hence it follows the vernal equinox year. The average length of its year is 365.2425 days."
http://calendars.wikia.com/wiki/Year [/QUOTE]

 As we will see, the Gregorian calendar turns out to be a fairly shrewd method devised by some great thinkers / astronomers of the times (even Tycho Brahe provided advice) to 'adjust' for Earth's motion  and our system's 'pesky' precessional motion against the stars. Amazingly enough (or perhaps not?), the 'solution' they adopted adds up to what amounts to a total solar drift vis-à-vis the stars of precisely 182.625 days (or HALF A SOLAR YEAR) ... in precisely 25344 years !

To illustrate this we will, for convenience, use a 2112 years timespan - i.e. 1/12 of 25344years.   

We see that, in 2112 years, the Sun 'drifts Eastwards' vis-à-vis the stars -  by 1 hour of RA (Right Ascension). Of course, 1hour of Right Ascension equals approximately 1/24th of a day - or 15° of a 360° circle :

(Of course, this is assuming that the Neave Planetarium can be relied upon as an accurate, 'long-range prediction tool'.) 






OBSERVABLE FACT: as of our Gregorian calendar (which counts the average year as 365,24219 days) the Sun 'moves forward' against the stars (every 2112 years) by 1hour of RA - or the equivalent of 15.2184 days (365.242 / 24 = 15.2184) Hence, every 2112 years, the Gregorian calendar causes the Sun to 'slip  Eastwards' (vis-à-vis  the stars) by 1/24th of a year. This, because as Earth proceeds around its PVP orbit, the Gregorian calendar  tries to 'combat' the natural / inevitable 25344-year drift of the Earth>Sun 'zenith axis' against  the 'fixed stars'. 

We see that 15.2184 days equal 0.0019728535% of 2112 years. We also see that 0.0019728535% of 9,256,896 days (i.e. 25344years) equals 182.625 days or EXACTLY 1/2 a year - or half a solar revolution.

Ergo, in 25344 years,  the current  Gregorian calendar (with its pattern of 365+365+365+ the periodic leap-year insertions of 366 days - averaging 365,24219 days) will eventually cause the Sun>Earth 'zenith axis' to be offset with the starfield by 180°. 

What does this mean / entail ? Well, here follows a simple graphic  illustrating how the Gregorian  calendar (what with its '1/2-year error'), will "affect our lives" here on this planet . Not much, you may say,  since - most probably - none one of us will be around by the year 27344. Anyhow, if you DO live that long - and  you're a keen stargazer, you may be bothered by the fact that your starfield will have flipped around by 180° ! On a more serious note, however, this seemingly 'minor problem' may well have significant long-term implications : in India, for instance, there has been growing concern regarding the Gregorian calendar's innacuracy in predicting the onset of monsoons - crucial for agriculture: http://www.vijayvaani.com/ArticleDisplay.aspx?aid=2381 
 




And what a long-term shambles (astronomically-wise) the Gregorian calendar turns out to be! In the below graphic, we see how the Sun will be drifting in our skies over a 25344-year period... Enough to make any observational astronomer (unaware of the TYCHO-SSSS model) panic & shit their pants at some stage in the future - since the 'constant of precession' will appear to dramatically fluctuate throughout the coming centuries !





Now, we could easily prevent this from happening : if we only adopted the sidereal year count (of 365.256363 days), here is how the Sun will 'behave' throughout its 25344-year journey around our PVP orbit :
 




No need to panic. Our 'solar system' is the most tranquil / stable / reliable 'clockwork' you could ever wish for.

********************************************************************************************

the stellar sophistry known as the "ABERRATION OF LIGHT" 
 a classic case of 'scientific twisting' dictated by Copernican confirmation bias

From the ENCYCLOPAEDIA BRITANNICA:

James Bradley,  (born March 1693, Sherborne, Gloucestershire, Eng.—died July 13, 1762, Chalford, Gloucestershire), English astronomer who in 1728 announced his discovery of the aberration of starlight, an apparent slight change in the positions of stars caused by the yearly motion of the Earth. That finding provided the first direct evidence for the revolution of the Earth around the Sun.
http://www.britannica.com/biography/James-Bradley


The so-called "Aberration of starlight" is widely held and hailed as The Definitive Proof of Earth's motion around the Sun - at breathtaking, supersonic speeds along a 300Mkm-wide orbit. For those who might (understandably) never have heard of it, here are a few concise yet fairly  sufficient descriptions of this arcane astronomical concept which, as we will shortly see, has a far simpler / geometric explanation within the TYCHO-SSS model : 

"The aberration of starlight was discovered in 1727 by the astronomer James Bradley while he was searching for evidence of stellar parallax, which in principle ought to be observable if the Copernican theory of the solar system is correct. He succeeded in detecting an annual variation in the apparent positions of stars, but the variation was not consistent with parallax. The observed displacement was greatest for stars in the direction perpendicular to the orbital plane of the Earth, and most puzzling was the fact that the displacement was exactly three months (i.e., 90 degrees) out of phase with the effect that would result from parallax due to the annual change in the Earth’s position in orbit around the Sun." 
http://mathpages.com/rr/s2-05/2-05.htm

To be sure, Bradley's "stellar aberration thesis" is still today widely considered as one of the strongest confirmations of the Copernican model - what with 'Earth orbiting the Sun at hypersonic speeds'. Here's an extract from a fairly recent 'science' book titled "The Sky at Einstein's Feet" (2006) :  
  



https://books.google.it/books?id=cRv4Kro_krUCHYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"&HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"lpg=PA13HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"&HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"dq=star%20annual%20motion%2040%20arcsecondsHYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"&HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"hl=itHYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"&HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"pg=PA13#v=onepageHYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"&HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"q=%2040%20arcsecondsHYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"&HYPERLINK "https://books.google.it/books?id=cRv4Kro_krUC&lpg=PA13&dq=star%20annual%20motion%2040%20arcseconds&hl=it&pg=PA13#v=onepage&q=%2040%20arcseconds&f=false"f=false

Before we proceed to analyze (and deconstruct) Bradley's celebrated 'discovery', let us first have a look at some solid, undeniable facts gathered over centuries of astronomical observations. You may have asked yourself this question at some point in your life: "do the stars appear to move in the sky year after year"? Yes indeed, they do. And the amount of annual 'displacement' of the stars is somewhere around 40" (i.e. 40 arcseconds) or probably as much as 40.8 arcseconds - as known by every serious astronomer a couple of centuries ago (and LONG before the birth of the NASA fakery factory) :    

From the 1875 Encyclopedia Britannica:
"As we proceed from the pole, the apparent orbits the stars describe become more and more elliptical, till in the plane of the ecliptic the apparent motion is in a straight line. The length of this line amounts in angular measure to about 40.8". http://www.frankrusso.net/stellar.html

Other academic sources have this annual stellar motion at 40" - or 40.4" - but let's just go with an 'approximate 40" figure'. After all - and always keep this in mind -  we're talking about EXTREMELY small / minuscule angular displacements here, the sort of which would certainly be expected in the TYCHO-SSSS model - what with Earth moving at a 'geriatric' speed of 1 mph... In fact, the well-known fact that astronomers were - for many centuries - utterly unable to detect ANY stellar parallax at all speaks volumes in support of the TYCHO-SSSS model and its snail-paced planet Earth !  

If you were wondering (and as most people are more familiar with degrees - as "a circle of 360°)" please know that 40 arcseconds = 0,011111111111111112° ! Try drawing a circle on a sheet of paper - and slice it in sections of 0,011111111111111112°. Good luck !





Yet today, the currently accepted, so-called 'constant of aberration' is set at about HALF of that 40.8" value:

"Approximating the Earth's orbit as circular, the maximum displacement of a star due to annual aberration is known as the constant of aberration (...) Its accepted value is 20″.49552  arcseconds (at J2000)."
https://en.wikipedia.org/wiki/Aberration_of_light

With the TYCHO-SSSS model in mind, we can easily see why  this 'halving' of the annual star displacement would have come to be: since Earth only moves annually by a little more of its own diameter, this stellar displacement all depends on whether it is measured at noon or at midnight. 

But let's get back to Bradley - and his "historical finding". To put it simply, Bradley found that the maximum annual elongation of a given star from an earthly observer does NOT occur - as would be expected in the Copernican model - over a six-month time period but will do so, in fact, three months later - i.e. nine months after the 'start' of a year-long observation. I won't bother describing here the intricate (and quite hilariously convoluted)  theory of "stellar aberration" which Bradley eventually came up with to 'explain the inexplicable' - since anyone can look it up for themselves. Instead, I will demonstrate - in plain /  graphic fashion - just WHY a given star will reach its maximum elongation (from an earthly observer) in a 9-month period. 

The star that Bradley selected for his main observational study was Draconis, a star which regularly (in our epoch)  transits almost right over London. So why on Earth, you may ask, did Bradley record that star as reaching its maximum elongation after 9 months (instead of the expected 6 months)? Here is why - according to the TYCHO-SSSS model :    




(NOTE: the proportions of the above Draconis-versus-Earth-annual-displacement diagram are, of course,  totally not to scale - and have to be understood as purely conceptual. Earth moves each year only by a tiny little fraction underneath our northern celestial area currently occupied by Draconis  ). 

Please note - in  my  above graphic - that the "DEC 21, 2000" point falls well outside of my darkened, elliptical area ('covering' about 6 months) - whereas ALL the other points fall WITHIN this elliptical area.  As you can see, the peculiar geometric nature of Earth's annual motion (within the TYCHO-SSSS model )  goes to explain just WHY the top astronomers of this world have observed that the stars' maximum displacement occurs in a period of nine months - rather than the 'Copernically-expected' six months. 

"The greatest shift of Polaris in any given direction occured not when the Earth's was at the opposite end of its orbit, as it should have been, but 3 months later. (...) Astronomers were greatly puzzled, the more so when it turned out that all other stars near Polaris were shifted the same way."
http://www-spof.gsfc.nasa.gov/stargaze/Saberr.htm

So let us now try and see whether there is a simpler explanation for this oddly-named 'phenomenon', namely ..."the aberration of light". Let us first quantify (in degrees) this "20.5 arc.seconds" value , aka the 'constant of aberration':

1 arcsecond is 1/1,296,000 of a 360° circle.

Therefore, 20.5 arcseconds are 20.5 /1,296,000 of a circle - or 0.0015818% of 360° (one solar revolution).

So why is this percentage slightly higher - (by 0.0000886%) - than our PVP CONSTANT (0.0014932) ?

As we have seen earlier (see Fig. X), the annual recession rate of the Sun (in relation to Earth) is 37,087.4km. 
Thus, the daily recession of the Sun (vis-à-vis Earth's 366 annual rotations) is: 37,087.4 km / 366 = 101.33km 

Now, as the Sun revolves around the Earth, in one year it will "gain one day" on Earth - so therefore this "gained day" should logically be subtracted from any calculation of Earth's displacement in relation to the stars. This, because the annual recession of the Sun (which, of course, regulates our clocks) will inevitably offset our angular - and thus, temporal - reckoning of the annual star 'drift'.     

Well, it just so happens that 101.33km is 0.0000894% of Earth's PVP orbit diameter (113,230,000km). So, as we subtract this value from the "constant of aberration", we get - lo and behold:
 
0.0015818 - 0.0000894 = 0.0014924 ( i.e. almost precisely our 0.0014932  "PVP CONSTANT")

Yet again, we see how our PVP CONSTANT (which simply represents the orbital speed differential between the Earth and the Sun) can explain another old astronomical myth such as the  so-called "aberration of light".



******************************************************************************************


ABOUT JUPITER

It would appear that ONE Jupiter orbit around Earth lasts, in actuality, for precisely 12 solar revolutions (whereas, from Earth, we interpret the duration of ONE Jupiter orbit  as  "11.86" years)  - and that In 25,344 years (or 9,256,896 days), Jupiter will complete exactly 2112 orbits (4383d X 2112 = 9,256,896d).

 Note that 12 years = 4383 days = 150 Moon cycles of 29.22 days (150 x 29.22 = 4383). 

Jupiter's average synodic period is 398.454545 days. This is a value 9.09090% larger than 365.25.
Now, 9.09090% of 4383 days (i.e. 12 solar years)- as it happens -  is precisely 398.454545. This clearly indicates that the reason why Jupiter realigns with the Sun (its synodic period) "9.09090% later" than 365.25 days (one solar year), is directly related to Jupiter's own precession rate around the system.  

Now, why does Jupiter (as seen from Earth) complete one sidereal period (i.e. realigns with a given star "X") in 11.86years - i.e. 1.18% LESS THAN 12 YEARS? 

Well, as can be readily verified on the NEAVE PLANETARIUM, after every 12 solar years Jupiter will find itself ahead ('further East') of its given starting point (a given star "X") by 17 min of RA (right ascension). 

17 minutes is, in fact, 1.18% of 1440min (which, of course, represents the 24hours of our 360° celestial sphere).

Logically then, these 17minutes simply represent Jupiter's own precession rate - as it also, of course, completes a full "equinox precession cycle" along with our entire system in 25,344 years.   

If Jupiter precesses by 17min every 12years, this means its annual precession rate is :

17 / 12 = 1.416666666666667min-per-year

If we multiply 1.416666666666667min by 25344, we obtain 35904min 

Alternatively : 17min X 2112 (number of Jupiter 12-year-orbits completed in 25344y) = 35904  (or almost exactly 25 solar days.) This is an interesting figure which probably merits further study, because the observed rotational period of the Sun is, in fact, ca. 25 days. One could therefore say that: "Jupiter's total precessional motion over a full, 'Great Year' (i.e. 25344 solar years) equals one rotation of the Sun on its axis".   

Jupiter's 'orbital resonance cycle' with Mars would appear to be 192 years (i.e. 16 X 12years= 192) - a period which equals 6 full 32-year Mars cycles (i.e. 6 X 32 = 192). In 25,344 years, 132 such cycles will be completed (192 X 132 = 25344).



********************************************************************************************


THE WONDROUS "6" FACTOR :

I promised earlier on to adress what I like to call "the wondrous 6 factor". So here we go.

We have just seen that Jupiter's orbital period is 4383 days - which equals 6 Mars orbits of 730.5 days.

The orbit of Mars is ca. 156.7 Mkm larger than the Sun's orbit. The average Mars > Earth distance (when summing furthest and closest Mars oppositions) is also 156.7Mkm (see below Fig. X).  
As it is, if we divide the Sun's orbit circumference by 6, we obtain:

939,943,116km / 6 = 156,657,186km 

In fact, the Sun (travelling at 107.226km/h) covers the distance of 156,657,186km in precisely 60.875 days - which 'happens' to equal (exactly) 1/6th of 365.25 days!

As we have seen, Earth moves by 1° of its orbit every 70.4 years - covering 1/36th of its orbit every 704years. Mars needs 4224 years (i.e. 704years X 6 ) to complete one "precessional lapping" of the Sun's orbit.  

And of course, 4224 X 6 = 25344 (the number of years of a full 'equinoctial precession' of our system).

Even Kepler was fascinated with the 'wondrous 6-factor' - although it wasn't, as you might think, a fascination of cosmic nature: his wonderment was confined to the shape of ... snowflakes : 
http://www.amazon.com/The-Six-Cornered-Snowflake-Johannes-Kepler/dp/1589880536

*****************************************************************************************

Pondering various TYCHO-SSSS figures and computations 

This is the distance the Earth will travel in one year (i.e. 8766 hours) - at its leisurely pace:
1.601168 km/h X 8766h = 14,035.84 km 

(Note:  Earth's officially-stated diameter at Equator is 12,756.3km)

We see that Earth drifts each year along its "P-V-P orbit" by a distance slightly larger than Earth's own diameter - plus an extra 1279.5 km (incidentally, just about 1/10th of Earth's diameter of 12,756.3km). 

********
In the TYCHO-SSSS, Earth moves annually (i.e. every 365.25 days) by 14035.84km.

The Sun moves daily by 2,573,424km

14035.84 is 0.5454 % of 2,573,424  

Interestingly - if we divide the decimal value '0,5454' (i.e. "0,5454% of 100") by 365.25, we get:
 0,5454 / 365.25 = 0.0014932 (i.e. our "PVP CONSTANT")

*********
Every 32 years, Earth covers 14035.84km X 32 =  449146.88km  - which is 0.12626263% of its PVP orbit's circumference (of 355,724,296km). We see that 0.12626263% of 25344years equals, in fact, 32years.

Every 32 years - as we have seen - Mars completes one full 360° circle around the system.
We see that 0.12626263% of 360° is 0.454545°. 

Let's now see if mathematics agree with the idea that (as the TYCHO-SSSS assumes) Mars will complete a full, 360° "Great Year" at the completion of 792 Mars cycles of 32 years :

Indeed, 792 X 0.454546° = 360.000432° - or almost precisely 360°. 


********************************************************************************************



EPILOGUE .............

.
++++++++++++++++++++++++++++++++++++++++++

ORBITAL DIAMETERS and more :

MOON : 763.200 km 
(apog:406,700km - perig: 356,500km) - average distance from Earth: 381,600km
Diameter at equator: 3476.2 (about 28.6% of Earth)
moon orbit circumference : 2,397,661.5 km (approx 59.8 X the Earth's circ. of 40,075km )
moon's orbit is 392 X smaller than the Sun's orbit 
moon's orbital speed: 3679.2km/h - (or 1.022 km/s) 
rotational speed : 4,627m/s - or 16.6572 km/h (ca. 10X the orbital speed of Earth)

More MOON DATA......................

Moon's sidereal period: 27.322
Moon Year (as seen from Earth) : 354.367 days  > 12 synodic Moon cycles of 29.53058 days
12 "True Mean 29.22-day Moon cycles" (of exactly 29.21765664 days) : 350.612 days 
Difference > 354.367 - 350.612 = 3.755 days (or 1.07%)
Extra km travelled by Moon (as satellite of Earth) in one year  : 
3.755 X 38.428km (daily motion of Earth) = 144.3 Km (or 1.03% of 14035.84km)
Daily distance covered by the Moon: 82,032km
Moon orbit > versus > Earth orbit (TYCHO-SSSS):  113,230,656km   / 768,850 km = 147.27 X smaller
Note: the mean distance of Moon from Earth's centre is ca. 10X of Earth's circumference 
Exact length of lunar "True Mean 29.22-day" cycle in TYCHO-SSSS = 29.21765664


EARTH: 113.23 Mkm (the "PVP" orbit) 
Diameter at equator: 12,756.3km
orbit circumference : 355,724,296 km 
orbital speed: 1.601168 km/h (or 0.0014932% of Sun's orbital speed)
Rotation period : 23 hours 56 minutes and 4 seconds
N° of rotations per year: 366
(365.255454 is 0.0014932% larger than 365.25. Could it be the IDEAL year-period for our calendars?)

Earth moves by 51.13636 arcseconds every year - during which it covers 14035.84km.
Earth "moves by 1 arcsecond" every 7.14236 days - during which it covers 274.466km (obtained by dividing 355,724,296km by 1,296,000).

274.4786km is 0.00007716% of 355,724,296km (the circumference of Earth's PVP orbit)
and in fact, 0.00007716% of 1,296,000 arcsecs (360°) is 1 - or precisely  0.99999359999

SUN: 299.2 Mkm 
(apog:152.1 Mkm - perig:147.1 Mkm) 
Diameter at equator: 1.392.000  km
orbit circumference: 939943116
orbital speed: 107.226 km/h - or 29.785 Km/s

MERC : 115.8 Mkm  
(apog: 216.9Mkm - perig : 80.8 Mkm > difference: 136.1 Mkm)
- note: Merc orbit is very much off-center of Sun - yet average distance from Earth = 1 .04 AU) 
(aph:69.8 - perih: 46.0)
orbit circumference:  363,796,122
Diameter at equator: 4879.4 km

VENUS: 216.4 Mkm 
(apog: 258.3 - perig: 41.9) 
(aph: 108.94 - perih: 107.48) 
Diameter at equator: 12140km 

MARS: 455.85 Mkm ( 455,850,000 ) - or 4.02585 X the Ø  of Earth's orbit
orbit circumference: 1,432,093,749.75km 
(apog:400 - perig:55.85) 
(aph: 249.23 - perih: 206.62)
Diameter at equator: 6792.4 km
orbital speed: 81684.565 Km/h  
PERIHELION CYCLE: current official estimate > 51,000 years (approx 2 X 25344 )

Phobos: 18756 km (orbits Mars in 459 minutes)
Diameter: 22.2 km  (27×21.6×18.8) km
Deimos: 46918 km (orbits Mars in 1818 minutes)
Diameter:  12.6 km (10×12×16) km

JUPITER: 1557.14 Mkm ( 1,557,140,000 )

Jupiter's orbit is 13.752 X larger than Earth's PVP orbit.
Jupiter's orbit is 5.204 X larger than the Sun's orbit.

About 48 of Jupiter's moons revolve in the opposite direction of Jupiter : 
http://home.dtm.ciw.edu/users/sheppard/satellites/orbitsall.html

LEGEND:
apogee = furthest from Earth
perigee = closest to Earth
aphelion = furthest from the Sun
perihelion = closest to the Sun 
1 AU = average distance btw Earth & Sun (149.6Mkm)


********************************************

FOOD FOR THOUGHT:

Earth's circumference: 40,075km
Sun orbit's circumference: 939,943,116km
Ergo : Sun orbit's circumference is 23454.6 X larger than Earth circumference

Earth's rotational speed : 1669.79km/h
Sun's orbital speed: 107,226km/h
Ergo: Sun's orbital speed is 64.2152X greater than Earth's rotational speed

Every 24 hours (1 day) Earth rotates on itself once
Every year (365.25days) the Sun revolves around Earth once

As it is, if we divide 23454.6 by 64.2152 - we obtain:
23454.6 / 64.2152 = 365.25

In plain words, one could put it this way:
"The Sun's orbital speed is locked in a 365.25 : 1 resonance with Earth's rotation."  

**************************************************** 
99 MARS cycles of 16 years = 99 X 16 = 1584 years
1584 years X 16 = 25344 years  

****************************************************

Average Earth>Mars distance at opposition: 55.7 + 101 = 156.7/2 = 78.3Mkm (divided by 2 = 39.15 Mkm)
Closest Earth>Mercury distance: 77.3 _ Closest Earth>Mercury distance: 38.2 _  77.3 - 38.2 = 39.1 Mkm
Furthest Earth>Sun distance: 152.2 Mkm  _  152.2Mkm - 113.2 Mkm (Earth orbit diameter) = 39 Mkm 

++++++++++++++++++++++++++++++++++++++++++

Cosmic factoids:
- the radius of Saturn’s orbit equals the circumference of Mars’ orbit, while the diameter of Neptune’s orbit equals the circumference of Saturn’s orbit. http://www.halexandria.org/dward115.htm 
- Saturn takes the same number of years to go around the Sun as there are days between full (Earth) Moons (to 99.8% accuracy).
- The Neptune–Pluto system lies in a 3:2 orbital resonance. https://en.wikipedia.org/wiki/Stability_of_the_Solar_System 


"Albert Einstein proposed three tests of general relativity, subsequently called the classical tests of general relativity, in 1916:
-the perihelion precession of Mercury's orbit
-the deflection of light by the Sun
-the gravitational redshift of light "
https://en.wikipedia.org/wiki/Tests_of_general_relativity


"Albert Einstein: Plagiarist of the Century?" 
There can be no clearer definition of scientific fraud than what went on in the Tropics on May 29, 1919. What is particularly clear is that Eddington fudged the solar eclipse data to make the results conform to "Einstein's" work on general relativity. 
http://www.aulis.com/albert_einstein.htm


"Despite developing these laws from observations, Kepler was never able to develop a theory to explain these motions."
https://en.wikipedia.org/wiki/Kepler_orbit

"Looking up the revolution periods of these planets, one may notice that 8×(period of Earth) [365.25X8=2922) is almost equal to 13×(period of Venus) [225X8) - ????????? - and 5×(period of Jupiter) is about 2×(period of Saturn)."
https://en.wikipedia.org/wiki/VSOP_(planets)


interesting QUOTES:

"A criterion of simplicity has frequently been used as a court of appeal in deciding between theories. If it is made complex enough, the Ptolemaic system can predict planetary positions correctly. But the Sun-centered system is much simpler, and ultimately we prefer it for that reason."
(...)
Special relativity was first proposed as a way of sidestepping the great difficulty that arose in physics as a result of the Michelson-Morley experiment (1887). Clerk Maxwell had shown that light and radio waves share the same electromagnetic spectrum, differing only in wave length. Sea waves require water, sound waves air, so, it was argued, electromagnetic waves must have their own medium to travel in. It was called the ether. "There can be no doubt that the interplanetary and interstellar spaces are not empty," Maxwell wrote, "but are occupied by a material substance or body, which is certainly the largest, and probably the most uniform body of which we have any knowledge." As today's dissidents see things, it was Maxwell's assumption of uniformity that was misleading.

The experiment of Michelson and Morley tried to detect this ether. Since the Earth in its orbital motion must plow through it, an "ether wind" should be detectable, just as a breeze can be felt outside the window of a moving car. Despite repeated attempts, however, no ethereal breeze could be felt. A pattern of interference fringes was supposed to shift when Michelson's instrument was rotated. But there was no fringe shift.

Einstein explained this result in radical fashion. There is no need of an ether, he said. And there was no fringe shift because the speed of an approaching light wave is unaffected by the observer's motion. But if the speed of light always remains the same, time itself would have to slow down, and space contract to just the amount needed to ensure that the one divided by the other--space divided by time--always gave the same value: the unvarying speed of light. The formula that achieved this result was quite simple, and mathematically everything worked out nicely and agreed with observation.

The skeptical, meanwhile, were placated with this formula: "I know it seems odd that time slows down and space contracts when things move, but don't worry, a measurable effect only occurs at high velocities--much higher than anything we find in everyday life. So for all practical purposes we can go on thinking in the same old way." (Meanwhile, space and time have been subordinated to velocity. Get used to it.)
 http://ldolphin.org/vanFlandern/ 

*******

"Some motions in the heavens are so slow that one generation may be forced to leave certain questions for later generations to answer."
https://books.google.it/books?id=LVp_gkwyvC8CHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"lpg=PA245HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"ots=NQqPSFzHFRHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"dq=west%20to%20east%20precession%20of%20starfieldHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"hl=itHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"pg=PA250#v=onepageHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"q=west%20to%20east%20precession%20of%20starfieldHYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"&HYPERLINK "https://books.google.it/books?id=LVp_gkwyvC8C&lpg=PA245&ots=NQqPSFzHFR&dq=west%20to%20east%20precession%20of%20starfield&hl=it&pg=PA250#v=onepage&q=west%20to%20east%20precession%20of%20starfield&f=false"f=false


*********************************


Comparison of Precession Theories: An Argument for the Binary Model - by Walter Cruttenden (2013)
http://webcache.googleusercontent.com/search?q=cache:http://www.binaryresearchinstitute.org/bri/research/papers/ComparisonPaper.pdfHYPERLINK "http://webcache.googleusercontent.com/search?q=cache:http://www.binaryresearchinstitute.org/bri/research/papers/ComparisonPaper.pdf&gws_rd=cr&ei=uKpuVrHpL8aHU-6iqLgK"&HYPERLINK "http://webcache.googleusercontent.com/search?q=cache:http://www.binaryresearchinstitute.org/bri/research/papers/ComparisonPaper.pdf&gws_rd=cr&ei=uKpuVrHpL8aHU-6iqLgK"gws_rd=crHYPERLINK "http://webcache.googleusercontent.com/search?q=cache:http://www.binaryresearchinstitute.org/bri/research/papers/ComparisonPaper.pdf&gws_rd=cr&ei=uKpuVrHpL8aHU-6iqLgK"&HYPERLINK "http://webcache.googleusercontent.com/search?q=cache:http://www.binaryresearchinstitute.org/bri/research/papers/ComparisonPaper.pdf&gws_rd=cr&ei=uKpuVrHpL8aHU-6iqLgK"ei=uKpuVrHpL8aHU-6iqLgK


An interesting paragraph from the Binary Research Institute :
"Under the current lunisolar theory of precession it is assumed that the earth goes around the sun 359 degree 59 minutes and 10 arc seconds in a Tropical year, the period from like equinox to like equinox, which is equal to 365.2422 rotations of the earth. This is true if you measure the position of the equinox relative to the fixed stars “outside” the solar system but it is not true if you measure the movement of the equinox relative to the sun or moon or other objects “within” the solar system, where the lunar data shows us that the earth goes around the sun a complete 360 degrees in a tropical year. Unfortunately, neither NASA VLBI nor any other official agency measures the earth’s orientation relative to nearby objects, so the paradox goes unnoticed."
http://www.binaryresearchinstitute.org/bri/research/evidence/lunarcycle.shtml



Further evidence that the flaw with the system which I am describing is real, can be further seen by returning to the 1875 Encyclopedia Britannica. Under the same heading on page 48 it says: "As we proceed from the pole, the apparent orbits the stars describe become more and more elliptical, till in the plane of the ecliptic the apparent motion is in a straight line. The length of this line ...amounts in angular measure to about 40.8".
http://www.frankrusso.net/stellar.html 


Diurnal aberration :
https://books.google.it/books?id=HDMAAAAAQAAJHYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"lpg=PA43HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"ots=93FOrMVJ-WHYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"dq=diurnal%20aberration%20%3FHYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"hl=itHYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"pg=PA52#v=onepageHYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"q=diurnal%20aberration%20?HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"&HYPERLINK "https://books.google.it/books?id=HDMAAAAAQAAJ&lpg=PA43&ots=93FOrMVJ-W&dq=diurnal%20aberration%20%3F&hl=it&pg=PA52#v=onepage&q=diurnal%20aberration%20?&f=false"f=false
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